ARAM TNPSC 2.0
TNPSC PREVIOUS YEAR BOTANY AND ZOOLOGY
280 QUESTIONS (2013-2020)

Which organelle of the following occurs only in plant cells?
(A) Peroxisome Glyoxysome

(C) Desmosome (D) Ribosome

gmeuy aawasatia 1l Hib GHEED HmerrammUiL| 673 ?

(A) QupnsalGasmbd (B) feverwunsadGarid
(C) QreawCunCemb D) epCunCsmb
Cirrhosis of liver is caused by chronic intake of

(A4) Opium d .alcahul

(C) Tobaceco h (D) Cocaine

sdeSrd HmEsD Crmi Spsar_supmer agmen Qan_ihg 2 L Asrdraugrd ghudng?

(A) eulub | : (B) pesagnre
(C) yersuieme - . (D) " Canaeafian
Total no of nucleus in mammalian RBC is

(a), 3 I ® 2

0 S M

Tl safledy GrEs Ay Csbsafld 2 der n.l..s(_r_r;éiar creirenilEens
KRG : .

(4) 3 | By 2
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SVEHFLD LilFewFdH @ FLOLD.

§2(H BT 2_BIK6T I Td Cauemed Harey BlewesreurT@H CUrgl Hwey O1FUIgh VEHFLD QUTBISHTHTH6T.



ARAM TNPSC 2.0
TNPSC PREVIOUS YEAR BOTANY AND ZOOLOGY
280 QUESTIONS (2013-2020)

Streptomycin is active against
(A) Gram positive bacteria

Gram negative bacteria
(C) Viruses
(D) Fungi

evL_QruiGL_menwod e, &@ arHgns QewueL(Beug) 2 @HD
A) SAgmd urdliigds Lndefur

B) SHgmbdb Ansi_iges Lnsefur

(C) emougavaser

D) yeremssar

Match the following :

Name of the organism Activity
(a) BGA and Rhizobium 1. Ammonification
(b) Bacteria and fungi 2.  N:- fixation
(¢c) Pseudomonas bacteria 3. Nitrification
(d) Nitrobacteria 4. Denitrification

(a) ) (c) (d)

o -

1 4 3
® 2 1 3 4
©) 2 3 4 1
D) 2 3 1 4

Epssan_cipenp QU HESS

e uSiflengSlen Quuir Qruice
(a) BGA womb erGsmGuwibd 1. oCurafluwrsss
(b) wrsl fwur pHED LiEsenaseT 2. eoplogen HlenaBnisse
© @&CLrCwnerrsv [T, 7Tl (1815 3. enpMGGCaayes

(d) eop Comurs’ fuwr

“Bacillus anthracis” which cause

4. g-eopl AACsages

disease in cattle and human.

w anthrax (B) plague

(C) cholera (D) typhoid

Cuélaoewer  HEyTedlen wdﬂgs&t WHMID  &TOHEL_Hatler Crrenu
THLESSEANS!.

(A) . BB MG B) uGers

(C) &smeogm D) erumi®

SVEHFLD LilFemFdh@ FLOLD.

§2(H BT 2_BIK6T I Td Cauemed Harey BlewesreurT@H CUrgl Hwey O1FUIgh VEHFLD QUTBISHTHTH6T.



ARAM TNPSC 2.0
TNPSC PREVIOUS YEAR BOTANY AND ZOOLOGY
280 QUESTIONS (2013-2020)
‘Which pclyphenolic compound is found in-soyabean?
(A) Androgen ' J Phyto estrogen
(C) Lysine - 1 o (D) Valine

GemumIefics sneariL@b LmeSkGenmellds sa GBI QU org?
(A)  ypem Ggmggenm B (ﬁ) Se@LC G mau_Grmgen
' {C} enev et o | (D) eumallemr - L
Which of the following fact is incorrect about mitosis? |
(A) It occurs only in body cells
w Mitosis has two divisions
(C) Maintenance of 2n.chromosomes

(D) Two diploid cells are pgoduced

et L_rflen LhHdlus Geraimib s hpisaflcy Seupmeans oT51?
A) 2.1 & Geasaile L BW B LQuUNEDSE)

B)  avwi Lrfled G L@ menerd Qamaim g

(C) 2n’ mCynGwrCsmbaer HlenablmssuLBHADE

D) @ @EruQsasar Gararmflarmanr

Vasopressin and Oxytocin
(B) FSH and TSH
(C) Neurohormones and Teratohormones
(D) ACTH and CCTH |

Ths hormones secreted by neurohypophysis are

Bl CrrenaniGur eudlevsrd &rssuLBb apriGloranseT
(A)  eunCesmlpdlen wHMID éedlndlen
(B) erd.cre.eré. wHmID 1g.6TE0.6TE.
(C) HwCrrapmiGurer wHmib QALgGLr apriGumen
(D) @.8l.q.eé womb &.8).1q.674.
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Which of the following 18 correct?

Volume of GOy liboratad
\b‘ Rospiratory Quotient = vo1ume of Oy consumed

Valume af Oy Lbermted

Volume of COz consumed

(B) Respiratory Quatient =

Volume of Oy consumed
(€C)  Respiratory Quotient = (o 0 Cm o0, liboratod

Volume of COy consumoed
(D) Respiratory Quotient = o1y g of Oy liberated

Qanasmeaareupiies eflunag sgy?

Geueth®L Cniun COy wmara

Y s aiey = LS BEsULGWL Oy seray

SR OUGD O3 dwaray
(B)  seune dfpb ™ BASULGD COs avwsy

L BERLLAOD O oy
() samsdipb= o i ULG® COs ararsy

vEBEFouBn OOz avray

(D) wenw faih = Quiatli® @i g e

Which of the following fact is incorrect about monocotyledonous plants?
(A) Seed has single cotyledon

(B) lLeaves have parallel venation

(C) Fibrous 1"oot system present

M . Flowers are pentamerous

Slerau(mid 9@6\515@@60 STeurhISET UM snHmseaficy gajg){rarg eTE1?
Q) dlog Q@ﬁgﬁmmmu Q& _g|

(B) Qawsaild GeaniCunée prbuambey srariiu(dns

(C) s@elCauiis QsrE iy sramiiLGE DS

(D) mBsms wer srariu@Hng
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Which of the following facts are correct about prokaryotic cells

1. Prominent nucleus is absent

II. Nucleolus is present

III. Mitosis and meiosis cell divisions are takes place

IV. Enveloped cell organelles are absent

(A) Iand]II are correct
M I and IV are correct
(C) II and III are correct

(D) TII and IV are correct

Qeaneumb LCrmGaNGuwm  (® Qsvasar unilw shmnsana) sMNUTETaa aTenal?

) £ Qpaflaren = Lam Heviwing)
1. plysetGuineren s UuIBSing

III. ew L rélev wpgb Bwunflev Qea9fisd pan Gumpdnay

IV. saiefenmed @mplulL Qs mia@TanmiueaeT S wns) 0

Assertion (A) : Blood samples are usually taken from the veins rather than
artery

Reason (R) ¢ Low Pressure in the veins

M Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) (A) is true, (R) is false ‘
(©)  (A)is false, (R) is true
(D) Both (A) and (R) are true and (R) is not the correct explanation of (A)

gapm (A) - i @Qués wrdflsar aBsss swaflsamer efl& HanpaCGer fipHsamal
sryamib (R) : Aeysdiié Grss SIWEED GopaIns §GEE!

A) (A womib (R) Qram@n A Gogiwb (R) eratug (A) elng sRwmar efanésid
B)  (A) sl e R) sougy

©C) (A paugy pemed (R) &l :

(D) (A) whpid (R) @ran@®d &M Cogibd (R) erenug) (A) eflne eflwrer efarssween
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The Androgen Binding protein is produced by

(€Y
(B)
(&)

N4

Hypothalamus
Leydig cells
Testosterone

Sertoli cells

@I _Crrer Qlenarrey Lrgsms 2 Husbsl teliuene

(Aa)
®B)
©
D)

eanCLTSMO6
NEARETIT: Ao |
QLevCLeveCymen

QerCLmed) Qaser

In lower organisms sometimes the entire mature organisms do not form gametes but

they themselves behave as gametes and the fusion of such mature individuals is
known as

(A)
(B)
(€)

o

Anisogamy
Merogamy
Paedogamy

Hologamy

pflon e lflselld do sowhsdla wiips e fiss QadCshsmer o maurssmos

Sue)ifsCar @ans Qsdsar Cumamy Qswadul® gadeansgy ubHu oulfsemas
Comipediih Gaui

(A)
(B)
(©)
(b))

Ceaumpul L Gae) Cadens
wrpul L Qe Caidens
Herd Qe Csrrams
apup Goirdiena
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A codon is a sequence of 3 nucleotides on

(A) t-RNA .a( m-RNA

(C) r-RNA (D) hn-RNA

GanLman eranuig @sen Agm_fla aperm HlusefGunemL (a6 @0

(A) 19yl Gen.a (B) erid.i.crenm.er
(C) =pi.yi.creon.ep (D) GTFGTEIT. <B4,(T. GTGHT. 6F
Which hormone causes emotional disturbances?

(A) Thyroxine (B) Oxytocin

(C) Vasopressin Adrenalin

g anmiGonarTe o el auwliul L Qsbsre st gnuGSSIHDS

(A)  egymerdle B) sl Lrgadlen
(C) eunGemSydlen D) = ferellan
The reactions of glycolysis occurs 1in the .

(A) Mitochondria and require the presence of oxygen
(B), Chloroplast and do not require the presence of oxygen
J Cytoplasm and do not require the presence of oxygen

(D) Peroxysomes and require the presence of oxygen

enargareiledlen-aflenaraer HanLGumeus)

(A)  ewl CLrsran fluredd whmb =é8na CosmaliuBb Hlaouid
(B) usnsafisgde wpmib 685mean Caaeuuiaoanns Hlaeudlea

(C) s CLrQaresdle wpm psmen Comaulaang Haauile
(D) QuyrsslGevmbléd wHmd Sp&8lsen GsamauliL(Bib Hlenaulile
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Carboxy peptidase enzyme contains the metal

(A) Iron (B) Cobalt

M Zinc (D) Magnesium

smrunsed! Quing G elled 2 drer 2 Cawrsid

(A) @mwoy | (B) Csmumdl

(C) @msspisnd D) wvsafSlwuw

Match the following _
(a) Food and water _ 1. Fomite — Borne transmission
(b) Mosquitos & Houseflies 2.  Air - Borne transmission

(¢) Clothes & Syringes 3.. Vechicle — Borne transmission
(d} Droplets & Dust 4, Vector — Borne transmission
Choose the correct answer

(a) (b) (c) (d)
4) 3 1 2 4
% 3 4 2 1
3 4 1 -2

D 4 3 1 2

AT T AES

(a) o et DDD Getrerit 1. Gﬁn@ﬁi’r el sS850

() QsrswpmbrF 00 - 2. snpp el sLSsisd

() sawf wHmb emél 3 B, fyau srgend aufl sLSgigd
() eas8o (=) sofigied wHob g 4" s gf el LG50

Which of the following is the most essential element for the origin of life?

(A) Carbohydrates (B} Proteins

(C) Fats _ \A Nunlem ﬂt’:ldE

Qﬁrﬁu@mmmﬂ}mﬁr 2 uilTECamemanse Was Glemlwenowngss) org ?
{A)  wraydGUmG ST (B) ungrusd
(C)  Qamppuyl Qumrgslser D) Apsealls oudaniser
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Which one of the following drug is cal]ed ‘superman’ drug? .
(A) Cocaine | . - Asaphetamine
(€) Heroin (D) - Alcohol

EpenamLiap e ag " GUUAGET aaIILEIh WLES QLB wHE?

(A) Cerlslen ' N | (B) .ﬁ,w..tﬂt_mmm

(C) Qapprulenr : (D) DS QETED _
Which group of vertebratea comprises Highest number of endangered species?
'A Fishes L _ (B’) Mammals

(C)  Reptiles - D) Birds

..ﬂ@u{m E(meumullgy smer @y@a@;mﬂm .9.,9; srmrmﬁﬁmsuﬁld: eThS Gg,n@,ﬁluﬁléﬂ
;muu@ﬂpg? '

B By . | ®) ungn ysdr

(C)  esfouen " D) upliver

In DNA, nitrogenous base together with a deoxyribose sugar and a phosphate group
forms a

(A) Nucleoside v Nucleotide
{C) Protein {D) Amino acid

@BLTRET STTOTEEL. 1 saONCUTGL Fibsmy Ln;nmu.n um(’éus_ AT TG T G&rrmgj
DNA afler 2 qpeumsugy

Ay  FlysaflCuneoa® - (B) ‘lﬁlg,é;aﬂﬂu.mml_(g

(C} unmsw (M) SACenm oy fled
Which organic functmnal group forms the peptlde bond of proteins?
(A) ether | -(B) ester

(C) acetal v amide

UrssHH & dren QuLELE Weemidaea e mans@y sl saans AsrEd a7
A T | (B) ereui |
(C) élirmad : _ D) seowi
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The raw material used for the manufacture of Rayon is

(A) Coal | @ Cellulose
(C) DPlastic B ) Pet;uleum'_

Grwmer swirfés’s LwerLBD apei@ugger

A)  dessfl - K - (BY GeagCeane
(C) Qennevigs - (D) Qu Groadlwib
Structural unit of a gene 1s called as
6 Cistron (B) Recon

(C) Muton (D) Codon

siafllan el SIVE eTeaTug)

(A) &Sevigme (B) ﬁ&l&ndn
C) By imer (D) Gasm_menm
The human erythrocytes contain adequate amount of enzyme
(A) Carbonic kinase (B) Carbonic amylase
(C) Carbonic ligase ﬂ Carbonic an hydrase
wefls Qrés Heuliy siemsaafler Cumgwrar eray QAnnd 2 dransy
(A) smrurefls £§Garev (B) smureflls oi8Gaen
(C) anmurefls NCasen (D) sriurefls e enan_Grev
Which of the following vitamin is required for gonadal fanction? -
(A) Vitamin A : % Vitamin B
(C)y VitaminD Vitamin E

&GQ‘. Qan(esiulHerranger  TBs weul L fleh Qatidumss wooy Gsudurisne
Csaau®dpsy. . '
A eowllbaA -  (B) ewl B
(€) - oelLfaD (D) @arLfaE
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The animal starch stored in all animals is.
(A) Cellulogse (B} Hemicellulose
(C)  Resistant starch _ | J Glycopen

Simanss oigsaligib Calssiu@n sty soLnissrans

@) QeogCare - ® QenGsogGane
©  afiiy doLmié ® ﬂmﬂsnﬂgﬁ;r
Endospore formation is seen in

(A) algae (B) fungi
ﬁ bacteria {D) viruses

G reu Gt £ (HEuNESLD #mﬁu@mg
(A) undlser | , B) W

©  ursefurssst ' (D) nm;msir

The ecnlngy of individual organisms nr)
(A)  Synecology j Antoecalogy

11

(C) Habitat ecology : . . D) Population ecology
sipflenauiwede ﬁdﬂ o il Hidag Azngliy 2 w@iflend aeeiny amwﬁmﬂu@ﬁ@m@?
@) el gpRodiue . By GrgpRemiug

Q) GsAtGLL @@ﬂm@m D) unyGaeyen mypHlamadud
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Match the following
List I -
(a) Hemophilia -
‘()  Y-Linked"
(c) Barr bod.iéa _
(d) AX '

Ll

_ (&) ) © @D
A 4 3 2
(B) 8 T4
Cy . 1 2
4

o

\QerauBLUsID®D B arsRab

=
W oW D e

Ulig e
(a) © aflGor Deflwm
® Y- @evariy
(0 L UMy,

(@ XX - 4.

W R

Last 11
Female
Christmas disease

" Chromosomes
" Holandric gene

el guwen I
Quew .
Biflavgnoen Cpmi
&CITCLNCanbad
amGeomeniilé: giei

After ovulation endocrine part of ovary is called as

(A) Corpus callosum
(Cy  Corpus Spongioum -

\ Corpus luteumn
(D) = Corpus albicans

e af Grdipglitdn nremder LgGHumen s S0 ' GTE I PHS AuBEns).

(A)  smiuen sCammb
{C)  amtuen doLre LD
The fesolving power of normal eye is
AWV 100 «
(C) 650 u

®) i grlgud
(D) smrugn 2ydf seman

(B) 1,000 u
(D) 10 u

ETGIyeRT afly samanticn L@ nen g

(A) 100 7
(C) 650 u

(B) 1,000 u
(D) 10
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Match the following List T with List IT and choose the correct answer using the codes given
below :

List [ List IT

(a) Chloride 1. Constituent of plastocyanin

(b) Zinc 2, Enzyme activator for photalysis

(c) Copper 3. Necessary for translocation of sugars

(d) Boron 4. Essential for the biosynthesis of TAA
(a) (b) (c) (d)

(A) 4 3 1

(BN 2 4 1 3

C) 4 2 3 1

D 4 - 3 2 1

&Gy Gar@asiul Berer ulgwe [ 2ier ulywe I 5 QurEmsss. GO Gsaflalmbg #flwunen
eflent_snwis CaipQs®H :

U igwe I U igwe IT
(a) ECemmeny(® 1. WemmenGLmeweflen 2 | Quimmer
(b) g 2. gafluGerggadlen Gprd AewuduBeaushs
() amium 3. grgsay QLiduwuielpe Geadluembunsg

(d) Cumgmren 4. [AA 2 uflue Coidmass apédwinmensy

How many number of viruses are known to cause Hepatitis?
(Aﬁ;g (B) 8
<©y 7 (D) 6

LDEHTFET SINLSFFME) GTHSEOET CUENFHWITET 66U SV HET 2 _eiTL_é (G Slemen?

A) 9 (B) 8
€ 7 (D) 6
do not take part in mitotic division
(A)’Hetero chromatin (B) Euchromatin
(C) Nucleosome (D) Lampbrush chromosome

Al

enwol.Lnélev Qe Ifgella LkiE Qupeidame
(A)  QanyCrm @CrmCGum e (B) . weCyrGum_iger
(©) pusefiGurGemd (D) Gawinlgav @CrmCurtsmb
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Which organelle is absent in human sperm
(A) Nucleus (B) Centriole
(C)’Endoplasmic reticulum (D) Mitochondria

weaflgaflen elbg Gewaler Geéars Clea Hiamr 2 piLiL| eT8I?

(A)  2Ll&m (B) QsanflGumed

(C) earenCGLm Gemraeuansd (D)  enw_CGrsmemtlwm
Mycobacterium tuberculosis is a micre organiem.
(A) Viral | (B) Fungal

© Algal (@ Bacterial
@wisrGude Aub gy uirECemdley eranig ——H@naSIit KuELW0.
A)  eaugen B) weme

) und D)} unsedlun

Which is the first form of deatruction of natural resources?

(A Hunting "~ (B) TFishing

(C) Mining | (D) Agriculture
Buipers wanrssefian 57868l QB LIS SIEDBHEE TE ?

A)  Careown@ae E B) BarGapsd

(C) sgasQsmfia D) Caerramany
Which of the following is an auto immune disease?

(A)  Asthma

B) SCID

(©) AIDS

(D’ Multiple Sclerosis

Eipsaar_aeusatiey ergy sw gant sy Grmi? |

(A) DLGVFE|LDT | ’

® . £y puidmanis seoLsmiy gons Gur
.(C) e | |

D) udsl( Csfld Crmil
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The growth of pollen tubes down the style is due to
(A) Hydrotropism (B) Traumatotropism

(C)  Thymotropism Chemotropism

WETHS GRTL cuaTiéfluemL_bg @ seorgamen Crrédl umhaisnE
(A Brpmiiin (B) 2 almdlmentia Gluissd
(C)‘ UHD Bl @uEsn (D) Ceud 'I_Bﬂ'l;_.l_Lb

How the Dracunculiasis disease transmlssxon takes place?

M Consumption of water containing cyclops
(B)  Inhalation of polluted air

(C)  Consumption of snail

(D) Consumption of contaminated foc.)d

g rr@en@ailwndlen Crmi uga s creuaunmy par QuNEng?
(A)  wssamien 2 drar e eny 2 Qsmareugmed
(B) wrsasrhenm seumdluiugme)
©C)  ppagew o Qardreusmi
(D)  GslL e ewas Qun@enar 2.1 Asren@nasmed
Difference between RNA and DNA is that of
(A)  Phosphate and sugar
(B)  Phosphate and Nitrogenous base
(C)  Nucleoside and nucleotide

\V Sugar and nitrogenous base

<. 6TEN.6F LDHDILD Ig..eT6H.67-&E D GevLudled o erer Caumun® erenuig)
(A)  urewGul wHmIb FTésmTVID 2 eTaTs)

(B)  urevCGui whgid enpLrrellanev Guan-ed 2 dreng)

©)  pusaliGureas® wimnb AuselGurenyd e drerg

(D)  sissemy wHHD epLrgente Giev-¢ 2_aTeng)
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A new frontier of drug design employing small stretches of complementary DNA and RNA is

(A) pencillin .ﬂ oligonucleotides
(C)  ampicillin (D) ciprofloxacin

g.eTen.er wHmb yr.erer.e eilar Adw Ber BHriysmer LwETLRSS WHHE gauELEHGD LHw
GrELEnay

(A) Quenéleden (B) alGanBlusefiCuiren 6
(©)  =pbldladlen D) SuChmeaermaGen e

The presence of abnormal amount of sugar in urine referred as

(A)  Polyuria (B) Nocturia

(C) Hyperglycemia \ﬁr Glycosuria

S Brssde sifswnen siara) sidseny sremiLHeug

(A ey " (B)  prsgwfur

(€)  eapiiuifeaendSwr (D)  dawenaGarau,fuir

Eutrophication leads to the death of fish due to
(A)  Increased Os content
(B) Increased algae number

(C) Decreased algae number

\M Decreased Oz content

WL CrmACGsagafiama Beflen Gwliyée sryamons Bmuug
(A yselimen siemay sdlsnresma

(B)  urdlaen eremanflGens oifswreugma

(C) urflser crameant Senas BHDDEUSTE

(D)  pselimer ety Ganougme

Robert Gallo discovered HIV which causes Aids in Year

A) 1994 1084

(C) 1988 (D) 1985

@orui CaGar eni_enev 2 meauns@d HIV eeugameans sar®liy 5 <pa®
(A) 1994 . (B) 1984
(C) 1988 (D) 1985
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An example for C, plant is

Sugarcane
(B) Potato
- (C)  Wheat
(D) Rice

C, sreuriisEnsE e THSsIsaT [

@ swiy
(B) eo(mewen
(C) Gangyenwo
(D) Gpe

Statement: For a person fitted with artificial pacemaker after 7 years battery for the
pacemaker was replaced by surgery

Reason : The pacemaker lithium battery lasts for 7 to 8 years.
(A) Statement correct and Reason is wrong
(B) Statement and reason are correct but the reason is not explaining the statement

y Statement and reason are correct and the reason explains the statement

(D) Statement and reason are wrong

Fadm : Qswnens Guav Cussr QuImSsIULL RHAUMSHS 7 A@HsEHES NG Sinemel
fdlEenas ppard Cuah Cussmasrar Lm L flulenar mggeut wrHbl Qummsgdarmmi?

smgewid ;. Guev Cuaafle odaar dlgHud um Ll 7 gam@ser wsd 8 awdadt ey

QeweuL_&8aiquig).
(A) saHmy &M EryeRTd Soumy
(B) smpg sl sryeerd &M e et sbenp eferssaildana
(©) spm &l srrard &f sryand sapenp alersEdleamg

D)  &Dm seum sTrewId Seum
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The method of permanent birth control in male is
(A) Tubectomy

(B) Vasectomy

(C) Thyrotectomy

(D) Hyserectomy

2} 6RTSGHESTEN gIT 1FleneoITE S(hSSEnL (PEODHWITEE LD
A gwlusLd

M eurdasL 1

(9] mg@rjrréu_@

D) @& 1)

Plasma is a cloud of

(A)  a—particle

(B) Neutrino

W Completely ionized matter
(D)  Uncharged particles

GleTTauLDT eTELI) ETSEmenmEng, ?
(A peur gseradr
B) Ay ACerr
(C) (P(PEUGID e pﬂémmuﬂ]eb S GTET FEHETHET
(D)  Hénseowwnn gsarsar |
The Extra cellular fluid of blood is
(A) RBC (Red Blood Corpuscles)

(B) WBC (White Blood Corpuscles)
w*™ Plasma

(D) Lymph

Eréssdlar o drar QedGeiehs Hraud

(A) Erss Heulugnsser
(B)  @rés Cleuereanarugm &ae
(C) Wermauwnm

(D) &bl
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The enzyme that joins DNA fragments 1s
(A)  Restriction endonuclease

(B) Lipase

{w Ligase

(D) Peroxidase

g.6760.67. Fewr(Haamer @l (HeughE Lwenu(BaguubHio Gl,r_-arrﬁ.
(A)  Greugféayen erenCGrm HlusedGuien |

(B)  enaliGuev

(C) emaGaen

(D) QupmésadGLsn

What is physical and mental dependence on drugs called

(A) - Neurosis J Addiction

(C}  Sedation (D) Indication

o L Fflunsad wearfHnrs wEhEISEREE SHigMDWTED LIPSHEHD ———— GTemL (D,
(A)  BlwyGrrendlen (B)  =ugbagen

(C)  wwsasb/Hde GLagem . (D) Eeng Caagen

Where does oxidative phosphorylation take place?

(A) chloroplast M mitochondrion

(C)  ribosome - (D) lysosome

2pdaiiggCannp LravCul Cariiy g Coil B&lmg?
(A) ushseaflsb (B)  emwo G smar_flwen

(C)  egCunCarb _ _ (D) @aGsrGsmb
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Kala-azar is caused by

(A) Plasmodium vivax
Leishmania donovani

©) Leishmania tropica

(D) Trypnosoma gambiens

20

sTer oiem Ghmigs sryent

(A) SlemmeuGLomig uith eHeuUaUT&6
(B) SevCuafwnm GL_nemmeu et

(C) e Goefluwim g gmSéssnr

(D) gflouGerrGemomr Gsibblwiean

Which is called as ‘Indian Flying Fox’?

A) Crow
(B) Indian Parrots

M Indian Fruit Bat

D) Owl

‘rHu LDEGELD BN aTaT DiWSSUUBHICUZ) eTEH?
A) EHETEHNSH

(B) @pAw S

(© @AW L Qauereured

€8)) DHDS

and families are grouped under the division
Monandria.

w Zingiberaceae and Anacardiaceae
(B) Rubiaceae and Asteraceae
(C) Zingiberaceae and Asteraceae

(D) Anacardiaceae and Rubiaceae

Curenraar_Awmr au@ide LHOD GHDU STeupmiSeT
cuansLUBSsSILL(Hereren.

A) AeaQAuCrd ; semariyCuél

(B)  m9ICWa ; geav Cré

(C) SAaHEuCnél ; ;%.dm'_Gr;rﬂ
D) sesnyGus ; mOAwGE
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R.H. Wittaker classified living organisms into Kingdoms.

A) 2 (B) 3

(C) 4 ; %5

R.H. el GLssm  eremueur Simargg 2 uwiflemsenanynd 2_OSHISETNS
suena LU (& Serm.

A 2 (B) 3

(©) 4 (D) b

Match the following :

(a) Ovwiduct 1.  Fallopian duct
- (b) Vas deferens 2. Vagina

(¢) Gamete Intra fallopian transfer 3.  Vasectomy

(d) Cervical cap 4.  Tubectomy

(a) (b) (©) (@

A 2 1 4 3

(B) 3 4 2 1

© 1 2 3 4 -
M 4 3 1 2

QuUTmESS :

(a) .a;ets:m_ BIETD 1. QuCarUQwer @ped

(b)  eflbg mremd 2. FHeA&EHTE UM

(© @m&@#éo DenTL prem 2 _deQisgisa 3. @l

(d) smasm feorsauay 4. qg@u&u&

A permanent birth control method in female is

(A) Copper—T M‘ubectomy

(C) Cervical cap (D) Contraceptive pills
AuansEnéster G5 Haeure smssaL 1P

(A)  smiui—T (B) 1puQua .\

(©) smppoLi Hens s (D) smiseL wosdaysdr
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Match the List-I (Shapes of viruses) with List-II (Examples) and choose the correct answer

using the codes given below.
List-I List-I1
(a) Helical rod shaped 1.  Bacteriophage
(b) Brick shaped 2.  Tobacco mosaic virus
(¢) Tadpole shaped 3.  Rabies virus
4. Poxvirus

(d) Bullet shaped

(a) (b) (© (d)

A 2
@ 2
@) 2
®) 3

1
4
3
1

N B = W

Ll iguwe-I (eardsefian aigeurisd) oL uliqwd [l-g (egmemsdr) Aurmss. ECp o drer
QsnE LS mHe sfiuner eloLenus Qzfey Aelis.

LlL..iq.lUé)'I UL'.Jq.IUG‘)"II
(@) s @y G aigauld 1. CusefusQsrae eerev
() Goiseegard 2. uesdoel uIETEI LFs @eIrED
(¢ poelndnieL augad 8. Qafipmisss eaured
@ Yool ageid T 2 e
Find the correct statement/s :
L. Signal molecule carries a message to the target cell.
I;. Target cell detects the signal molecules and receive the message.
(A) I wrong II correct (B) Icorrect II wrong
(C)  Both I and II wrong \@7T" Both I and II correct
sflwrer smpeom Cairey Qewis :
; aﬂm @m&gmsér. Aelflenw Qos@s Asdasersd odsss Qeddamar.
. Qeég Asosen, sullsmssmar sarHbs) Qeiflenw Qupydlenmen.
A) Igeum Il &f B) Ia&M1I seugy
©) I wpmd I seuy D) I whmb II &f

SVEHFLD LilFemFdh@ FLOLD.

§2(H BT 2_BIK6T I Td Cauemed Harey BlewesreurT@H CUrgl Hwey O1FUIgh VEHFLD QUTBISHTHTH6T.

23



ARAM TNPSC 2.0
TNPSC PREVIOUS YEAR BOTANY AND ZOOLOGY
280 QUESTIONS (2013-2020

VEHFLD LilFenFds @ FLoLb.

§2(H BT 2_BIK6T Y Td Cauemed Hearey BlewereuT@H CUrgl Hwe OFuigh VEHFLD UTBISHTH TH6T.




25
ARAM TNPSC 2.0
TNPSC PREVIOUS YEAR BOTANY AND ZOOLOGY
280 QUESTIONS (2013-2020)

Which of the following is male accessory reproductive glands in mammals?
(A) Gastric gland (B) Mushroom shaped gland
M Prostate gland (D) Inguinal gland

Epsam_aupdle urm iguiler per @ariQumes sienat sTUSwns G mUILIS 6T51?
(A) smel_fé srond (B) ipevemid euigeu &qulﬁl
(C) uGrmenCGLL_ sl D) @en@ene &yl

Who discovered Rh factor?
(A) James Watson (B) Robert Hook
W Landsteiner Carl (D) William Harvey

Rh snyenfl wnymed sewrdluiiun’ L g?
(A) Cggibeiy eum_gen (B) grum’ apes
(C) QITEITEVEN L_GTTIT &HITED (D) efevadlwib apnirell

‘Fruit of angel’ is referred to
(A) Mango

B) Jack

«©) Banana

M Papaya

‘Coeugnsisailen sail’ erar GHUGL LGS
(A) i

(B) Lieor

(C) eumemip

@) udurafl

In human beings, sex is determined by sex chromosomes X and Y. The female human is

represented by sex chromosomes

@ X0 : W xx

© XY D) YY

wafly urd Hirauidssdlen, urd GCrmGurGsmbadr X whmb Y o drerear. wry ewinde syraf

Quietrenfles @CrmCuwnGamibaer
A) XO B) XX
<) XY (D) YY
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The smallest of the living apes is

(A) Gibbon : Aris

(C) Orangutan (D) None of the above

Sl cuens eum(pLd cumed @O GG aUeNs
A) &l umen (B) Genflev

(C) DTG TEn D) ergapdiaame

Which of the following is called as ‘King of Qil seeds'?

(A) Olve

(B) Castor
Groundnut

(D) Sesame

Spsam_aupyer ‘aan@eani cdsgissaln sipsar aeany SiewssiiLBeag oTg?
A) e
B) epwanss
(C) fPoss oo
(D)  eren
The disease sickle-cell anaemia, is caused by

(A) Iron deficiency (B) Malarial infection

(C)  Poor hygiene - y Genes

Hadlar Qg siafBlwm ergyd G)rHs Comens CHMU gHUL. STFeRTLD
(A) @mby sss @@mpun® (B) wCeflwrsmigsa
(C) &sanrsry Cal® (D) genaer
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The total contribution of ATP per glucose oxidized through Kreb’s cycle
30 (B) 138
© 4 (D) 8

20 GEsGstav Ayl spnd waw HosssluPLOurs assmer ATP QP& T D) S0
Qan(Hsdmg?

(A) 30 3 (B) 38

€ 4 (D) 8

Who are the major primary producers of marine environment?
(A) Sea anemons
(B)  Sea grasses
Phyto planktons
(D)  Zoo planktons

&L O Gpellen apsean Hlenw swrAiumeriadr wreaneu?
(A) s sefCGomen

(B) s&sLeypser
(C) eulCumlemii_eraer
(D) dHgmea Qyrenflser

The medicine for Typhoid is

(A) Chloroquin

(D) Sulpha-drugs

eLumU® smi&sadlen w@mbSlen Gluwm
A) @&CamCGrmaulen

(B) efliiiSlar ‘A’

©) &GarmGyreniodledlen

(D) ST 1978560
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DNA transcribes different types of RNAs. Find out the coding RNA.
(A) tRNA (B) rRNA
/ mRNA (D) snRNA

DNA QauciGeaupy euenswner RNAseer auigauaminss) o euns@n. sife orgy (Camgnis) RNA eremgy
Quuwir?

(A) tRNA . (B) rRNA
(C) mRNA (D) snRNA

Gametogenesis is the important event of sexual reproduction in any organism. Which of the

following type of cell division controls this process?
(A) Mitosis
(B) Amitosis

/ Meiosis

(D) Binary fission

GalbL(haar o (peaun@eaug amelenn Aumsssdar gm wedu flaba. Gabap sEUUESSID
Qe 9fley auens e1g?

(A)  ewlimedlen

(B) erenwl_Lmedlev

(C) dBwnreadiav

(D) @uienisGfley

Mitochondria are known as “Power houses” of the cells. Because
they supply energy rich ATP

(B) they supply enough CO, to body

(C) they protects cells from photooxidation

(D) they act as autophagic vacuoles

anw_CLaneng furssamer g 68 (DiID0g) DD SHEET eTenmy P &sLILBEDE?
(A) sa8Ol&s ATP O GULDTRIGHEUSTED
(B) Gsemeuwmen CO, aupmi@Geusne
(C) gafléflamsdlicdmbs Qewse UTHSTUILSTE
(D) paremanssrCen Hengid GO Plsamas QawduBausmd
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Which diseases have been eliminated in India?
(A) Malaria and Dengue

" (B) Typhoid and Tuberculosis

/ Small Pox and Plague

(D)  Chicken Pox and Leprosy

@sdwrefer gfidsiiul L CrmiseT ereneu?
(A)  wCafiwr Qurig
(B) e iumi®, sreCrmi
(C) Quiiw sibew, 9Cars
(D)  Alean sibenio, ApmpGrmis
The average length of human pregnancy is

34 — 36 weeks

% 36 — 38 weeks

38 — 40 weeks

(D) 34 —40 weeks

syrefl vafllgeflan sriu sred
(A) 34-36eunmmd
(B) 36-38eunmd

(C) 38-40eumw
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Ganong’s respirometer can measure the following
(4)  Photosynthetic efficiency of plants

M R.Q. of respiratory substrates ' .
(C)  Quo of respiratory metabolism

(D)  Rate of COz evolution during respiration

]

srenmaneiy QyavdGymBLL i creng SienehlL () ST Hb?
(A)  gefléGsidens Spen

(B) sans gesmpsaa R.Q.

(C©)  Quoén seuns auariflens mnﬁ)bnb

(D) sandsgden CO2 Qaafeii> serey
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The source of energy in any eco system are

(&)  Osmotrophs \ﬂ/ Autotrophs
4y« Htholeopha (D)  Heterotrophs
Gipflovllude gpnddan padu smn
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A preparation of living (or) killed micro-organism (or) viruses used in prevention of diseases

through immunization is called

(A) Toxoid %Vaccine

(C) Viremia (D) Anti— toxin

e lmarer (=) 2ulphp mereilu o ulflamsdr (&) @andsmear pb oL gyt Qsgush BL&EEG
ity séaflenw e HAUTEGuSDHE erenen QuWir?

(A) Lr&smu® (B) s®EOY =d

(C) AffSlwn D) eaPi—

Kuhne's tube can demonstrate the process of
M Fermentat.non
Germination of seeds
© Growth of plants

(D) Aerobic respiration

S Gml sThs Blapancu BlapAsGd
A) QAprélismseo

B) aflens penarSsc

) sosur suarTas)

) Srhmient_u SeunSlSsar

In higher plants the sporophytic phase is formed after growth and development of the zygote.

Point out the type of cell division involved in this growth.
/ Mitosis
(B) Meiosis
© Amitosis

(D) Zygotic meiosis

o wireuens sneugrseaien CurCrmenulins Blow amsCasmigen cuendsl wLIHDEETL 2 (Heundng.
aIhs euens Qe Uflay @Ho QrwouBfpg crarums sLigsEsm B

(A) el Lnadlev

(B) Burelfev

C) gennl_L_readlev
(D) naGamigd WBuredlen
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The crop which gets affected by pink ball worm is

(A) Banana
(B) Wheat
(C) Mango

M Cotton

@ergréleui ubg yepeurd urdéstuBn uudi

(A) ey
B) Cangieow
©) o

M) umwsd

What is phototropism?

movement of plants towards chemicals

}/ movement of plants towards light

movement of plants towards soil

(D) response of plants for day length

Cum_CLm_ymiGeuid erempmed srenen ?

(A) Qesysaflar Caudl Qurmer Crradw Quissd
(B) Qsgsdilan gafl Crradw @uidsbd

(C) Qageaailen vwewr Crréafu Quissd

(D) Qegaaien gafl srewss cllenen
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If a tea leaves are kept in hot water for longer time, the liquid becomes bitter because
(A) _The volatile oil in the leaves dissolves out

The tannin dissolves out
(C)  The thein dissolves out
(D)  Of the defect in the tea leaves

Caulleawneng Qardagn Bl SHsCryd evauglmpsnd sslius sanennews Qups smremd
(A) peflunsssanu sreRrQeni Beoauldmbg Gapiio smyagrd
(B) . Graflen (Lraflén) Qe senpeugma
(©) Alen QaupBfler senyaugned
(D) @eaulsr @mpun(® sTyeTons
Red data book contains data of
(A)  All plant species
(B) All animal species
(C) Economically important species
M Threatened endangered species

Qi CLL L ussasila 2 arar efleugmiser

(A) smeandg sTeuT @amusm

(B) iomensg clliidlambsar

(©)  Qurmengny fFHwns wpsfluggieud aumlibs 2 uSflaen
(D)  =ufuyb Hevaulgyerer sumusy Hlene o uflemruser

During DNA replication, the Okazaki fragments on the lagging strand and joined together

by
M DNA ligase (B) DNA polymerase
(C)

Primase (D) Helicase

. crén. g @1 sl Gung) pasndl giampsman Gdanen.ay G@enipuLan QevemaEh Aprd
(A)  igcren.g s (B) q.arenq umellGwGyen
© GenCuod D) QendiGaed
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In Abelmosclus esculentus, the fruit is

(A)  Drupe (B) Schizocarp
(C) Regma M Loculicidal capsule

gludwravsey erav@aT o graunsden safl cuams
(A) el (B) Qereysaf
(C) Qgéwor D) wos s Qeugsefl

How many asymmetric carbon atoms are present in a glucose molecule?
(A) Two (B) Three

\V Four (D) Five

em GEsEGsmd apossmbld sraruu@b Qurss Srawwpp sriud Signésdar aaralsms
CTHBEmEn?

A @rea® (B) epenmy
(C) prang D) mhs

Pyrethrum Extracted from the inflorescence of
Chrysanthemum (B) Citrus
(C)  Agro bacterium (D) Bacillus

eoufigHrn ergsreuy weprsflldmbg INGE0sHEsLLHD
(A) dlersrpdion (B) &ipen
(C) =&Crmurseflum (D) Cuélevavev

is an antibiotic obtained from the blue green mold.
(A) Streptomycin M Penicillin
(C) Aureomycin (D) Chloromyecin

@ p@mguwng s, & b usms Leramsuldmhg e BassuuLHDg.
(A) evl QouCLrenwnélen (B) Queafidfldelien
(C) MCunennen (D) @CamCrrenodlen
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The ulcer is mostly due to infections by a bacterium called
IM Helicobacter pylori

(B)

(©)
(D)

Strepto coccl
- Staphylo cocci

Mycobacterium tuberculae

QumbuTID @G L Camenm aryarmomen Lmdtiefwib

(A)
(B)
(©)
(D)

Ganall&CarGuaLi eruCan
QpuCLr sréams
@ emuCGar ansas

amw&GCaTurse flw gupui GGarsay

A boys larynx enlarges leading to deepening of voice and he shows hair growth over his face.

This is due to the hormone

(A)

Inhibition

y Testosterone

(D)

Oestrogen

Progesteron

am fgauailar AgramemLl uGH Ssay Gre wrHPL gHubdamg? CogIb JugmLw pssda

Grmo euemiéé sraeriiuBdlenng). Qs0@ snyemoner anrrGuome

Aa)
(B)
(©)
(D)

§2(H BT 2_BIK6T I Td Cauemed Harey BlewesreurT@H CUrgl Hwey O1FUIgh VEHFLD QUTBISHTHTH6T.
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QArevCLrmevte Crymen
rrevig Crnigenn

YGrmQAgeivig Crmeir
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Blood is formed in the human adult by the

(A) heart

(B) spleen

4T red bone marrow

(D) yellow bone marrow

auerréfluenLbs wallgaflan @rissims o (meunsGeaug
&) @swo
(B) weaweye
(C) &suyargiby wghens
(D)  wEpser aTbL WEHDEF
Ovulation generally occurs
(A)  Just before menstruation

(B) During menstruation

(C)  Just after menstruation

\ﬂ( Midway through menstrual cycle

L deauaflu®sd aps srawdd pen Gumd
(A)  wrgell mbés apeny

(B) wngellLmi mrcué@s’w@ung

(C) wrgellmi sreb Slenarmed

(D) wrgeflLmi pL&ED srwsden Qe Gu

SVEHFLD LilFemFdh@ FLOLD.

§2(H BT 2_BIK6T I Td Cauemed Harey BlewesreurT@H CUrgl Hwey O1FUIgh VEHFLD QUTBISHTHTH6T.

47



ARAM TNPSC 2.0
TNPSC PREVIOUS YEAR BOTANY AND ZOOLOGY
280 QUESTIONS (2013-2020)

Who constructed a model successfully for DNA first?
(A) Barbara Mcclintock 1965

Melvm and Calvin 1963

\K Watson and Crick 1953

(D) Hatch and Slack 1965

@auisafled writ apgenapgeiidy DNA &@ Qeupdlsywrs wrff eugeud Qanr@ssriser?
(A)  wumiumn Qusfeflen_rs 1965

(B) Quaeien wpmbd sraellen 1963

(C) aunmisen wpmd Hfldew 1953

(D)  Gamé wpmid evens 1965

All of the following are bacteria except

M Bacteriophage

(B) E.Coli
(C) Lactobacillus subtilis

(D) Corynebacterium diphtheria

@eaudmer ganens s6ily wHmmeau eraemd unsweflurésdr
(A)  unseflurCug

(B) e Carena

(C) wnééun@ua&wdo sUg.ellav

(D)  smefluurse flwibd godfur

SVEHFLD LilFemFdh@ FLOLD.

§2(H BT 2_BIK6T I Td Cauemed Harey BlewesreurT@H CUrgl Hwey O1FUIgh VEHFLD QUTBISHTHTH6T.

48



ARAM TNPSC 2.0
TNPSC PREVIOUS YEAR BOTANY AND ZOOLOGY
280 QUESTIONS (2013-2020)

The Drug most widely used against AIDS virus is
™ Zidorudine

(B) Miconozole

(C) Nawoxylol

(D) Virazole

AIDS e QiQardd evaugevs® erflgna vwearuSsUBD wEmpHar Quwir
(A)  e@sCLramg.en

(B)  enwCasnGamCened

(©) prCamensened

D) &pGsrad

Trypanosomiasis is a disease transmitted by

(A) Sand fly
WTse-tse fly

(C) Firefly

(D) May fly

g AGuGamGavmAlwrelien erenp Cprenws sL_gg b o udfl
(A)  wvemayss

(B) Tse-tse (Qsi8l) u&é

© Busé

(D) Cuwyss
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~ According to Fluid-Mosaic model, Plasma membrane is made of
(A)  Cellulose and hemicellulose
(B) Phospholipids and hemicellulose
(C)  Phospholipids and intrinsic proteins

y Phospholipids, intrinsic and extrinsic proteins

gyeu-Gorenss wirdfluden L., erTevom sauauTaS) TRV TR )7 T

(A) QsagiGarev wHmib danwblCsdgGereay

B) umevCGurall A Hser wHmib Ganbl@eaaiGamen

(©) undo(%gnc&&L@&c’n WHmID e_dre;rnﬁﬁ)g, LI SRIGET

D) ureGureldl Baer, o ararmihs Lrshiser wHmD Geuefiiiyply Yyghiser

»Nutrition Atlas and Diet Atlas were published by

& ICMR (B) UNICEF
(C) WHO (D) FAO

20N #5555 S N6 HMID 2-emrey 2iaren @eupean Qeuafludl g

(4) ICMR (B) UNICEF
(C) WHO (D) FAO
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In humén, which types of cells are affected by Malarial parasite?
W Liver cell and RBC (B) RBC and WBC
(C) RBC and Ty; Cells (D) RBC and Epithelial cells

weflgefle, wCaflwr gl Hareaflufemmea GT'I_i");G_'; ums Qgvser unfesiiuBSna?
(A)  sadye Qg wHmb Qrss HNeuliy gmsse

B)  @rés Heuliy @ysser LHMID ErHs CleudTeenugm&aaT

C) Quss flay sigsaear whmn Ty Cedosdr

D) @rsés Hauliy sigsaer wHmb AL Tllev Qeaaer

Sensitivity, congenital, traumatic, metabolic and associated with drugs, smoke and heavy
alcohol consumption are characters of

(A)  Obesity \M Cataract
(C) Glaucoma (D) Diabetics

o emriESlwpdlHLLg. sreanblge L, I.Q.II.GLILqu.é'B.' euenitélang WIHOWD WHHID WHHS, Lma HmID
G4up&s5CHT[H Ggm_iyemw Crmi

(A)  @@T_Ts @miug (B) amigrsl
(©) ©EsECamnon (D)  BoPey

L. Obelia polyp is sessile and fixed.

I1. Obelia mature medusa in free-swimming.

Statements are True/False

(A) (I) alone true ; ‘ (B) (II) alone true
& (D) and (II) are true (D) (1) and (1) are false

.  @ldlurefer urelluser p& (WP LITESTED L 1g & Qararm(HId SremriiL(Hib.
I g@ldlureler wpdibs Guper-gaflwrs Bhss sgume.

Cumeadlu spm sflwr? seupm?
(A  (I) b @Ew e : (B) (I) bl @ &l
(©) (D) wpmbd (IT) sMwurarensu | (D) ) womd (IT) seupreareneu
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Which protozoan causing Kala azar?

(A) Trypanosoma gambiens

M Leishmania donovani

(C) Leishmania tropica

(D) Plasmodium vivax

“srar sierey” gHuBSSHID UCIm_CLrCsreuen (@m Qed gL Heamreanfl) erg?
(A)  wAOuCeamGsmon CabiGween

(B) &SevCuweflwr CLrenmeauneaf

(©C) SevCoeaflwr gymSsst

D) QermevComgwib eeusunéen

Which fungi impart “earthy odor” to the soil after rain?

I. Penicillium
I1. Rhizopus
ITI.  Mucor

v Streptomyces

A 1 B) II

(C) 1 M IV

Wwen @) 196 “Loam cunsmen” GHLIL. STTERTIONE LLEHens 6187

I. Queaffellwbd II. eopGaruen

. WdBussn IV. &l QruCLrenwélen
A 1 (B) 1I

(C) I Dy IV
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The female sex organ in Alga-chara is called as

I. Globule
I1. Strobili

[II.  Oospore
IV.  Nucule

(A) 1 (B) 11

(C) I M v

Cagm unélulen Quiesr LiTgymITiy

I GCemmyyye
II. e QymAel

III. eamevCumni

IV. ﬂgégéj

A 1 By 11
(C) III (D) IV

The average ocean salinity is

A) . 45%
M 35%
© 33%
(D) 38%

QummisLdlen sgnefl e airiGwsHen serey

(A)  45%
(B) 35%
(C) 33%
(D) 38%
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Which gland enlarges, after the middle age of the male people, leads to interrupt urination?

(A)

Bulbo-urethral gland

y Prostate gland

(©)
(D)

Ampulla

Gowper’s gland

auwg apdmo flanewis panaEras aps a0l Quiigragra, Apbr sy urdouemLub?

(A)
(B)
©

(D)

uaCun-whsyd syl
LCrmeuCGLL srud@
SpyD

Qaerou &yl

Human ovum contains no yolk. How can we call it?

(B)
(©)
(D)

Alecithel Egg
Isolecithel Egg
Mesolecithel Egg
Telolecithel Egg

S(HeyRTa| DM wells S Sigmeflenan sTEUUN SIHPESOMD?

(A)
(B)
(©)
(D)

FgQefsse apla
wCsnQadigs aplen
BCsnQaflsadm apren. -
eCan@adligsd aprent
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is essential for binding of Ribosomal sub units.

L Mo
. Mg
L. Cl
IV. Ca
(A) 1and Il only M 11 only

(C) HIandIV only : (D) IVonly

eorCunCsnd giwen s@Gsmar Qaanss waLBb saflon

L. Mo

1L Mg

In.  Cl1

IV. Ca

@A) T uwpgod I vl Gd B) 1w @b
(C) I wpgd IV vl @b (D) IV wl@w

Haemophilia is a human disease caused by
(A) Bacterial infection

Fungal infection

M‘ Mutant gene

Viral infection

afGomSewr arendn Gr5s @s® CHML asama gHuG g ?
(A)  umseflur QsrHm apaid

B)  yews sy

©) BeiwmHpd apaid

(D) eeaure AsTHm aped
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From the list below choose the binomial of Ifotus
\W Nelumbium speciosum

(B)  Victoria regia

(C) Pistia stratiotes

(D) Nymphaea stellata

smoenyullen sreuy G Gemed Quweny &G:p Qar®BasuuLauphadmba Carey Qaw
(A) Soawdlub alialCuraun

(B) ef&CLmilw fgQuwim

(C) Qevgwrevlgm g Cuim e

D) Houwr @@ aCalir

Which of the following characters of Gnetum brings it close to-Angiosperms?

(A)  Woody habits

«(B) Anomalous secondary growth

M Presence of vessels in xylem

(D) Naked seeds

Bl gflen arbg ey Siwg agmp e aLw (argCunavun) sraurkadie sribg @ medng?
(A)  wr sy
B) sywrorer Qe mb eueriras)

(C) Weueweaen 2 el i enseLd

D) Hops clens
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The deficiency of vitamin “A” causes
(A) Hair to fall

(B) Dysentery

yf Night blindness

(D) Weakness
e lissg el Liflen “A” geapur®
A) oy odi

(B) aulippCurss
(C) wreneassr Gpmi
(D) Gemiey
The most likely period in which a woman may conceive is

(A) from 7th to 10 day of menstrual cycle

‘y\ 15 to 19 day of menstrual cycle

(C) on 14* day of menstrual cycle

(D) at any time in menstrual cycle

Quemresfien smaymisd (TpsE@DW) perLAugd Hrer
(A)  wrgellLmi @mbg 7 wad 10-eug) Hrer

(B) wrgell m@almpg 15 apsed 19-cug prer

(C) 1l4-eug mrer wrgellmubie @mbs

(D) gl mSSmHE smanss Hrisafigin

SVEHFLD LilFemFdh@ FLOLD.

§2(H BT 2_BIK6T I Td Cauemed Harey BlewesreurT@H CUrgl Hwey O1FUIgh VEHFLD QUTBISHTHTH6T.

57



58

ARAM TNPSC 2.0
TNPSC PREVIOUS YEAR BOTANY AND ZOOLOGY
280 QUESTIONS (2013-2020)

Which of the following characters is true about fungi? They are

j heterotrophic plants

(B) chlorophyllus plants
(C) prokaryotic plants

(D) autotrophic animals

&Gy an@ésuu@w;b;ﬂé) LiEhensamwIT UHHIL 2 GTenLo 6187 DienaUSET
(A) QaniyCmgomi9s sreupmiser

(B) usswgpeLw sreugriser

(©)  yGynaGaMunqs sraymsdr

D) < CLmgym9s elem@ser

Growth of plants only in water without soil is called

(A) Hypertonic

W Hydroponics

(C)  Hydrolytic

(D) Hypotonic

Sreursene wear @dmod samafild wi Hib cuaré@n wpen @aiauny SmwssuuBéns
(A)  eapuiurCLrafls

(B) eap _GrrCunaflaen

(€C) man Crrereg &

(D) eagpuCunCGLrais
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Match the following :

(a) Beriberi 1.  Vitamin C
(b) Pellagra 2, Vitamin B,
(¢) Scurvy 3. Vitamin D
(d) Rickets 4. Vitamin By
(a) (b) (c) (d)

(A 4 3 2 1

w _2 4 1 3
< 1 3 4 2
(D 3 2. 1 4
Quirmsss
(a) QufiCuf 1. eneul L flem C
(b) Queéersgm 2. eaul i fan By
(¢) evmiTed 3. ealudaD
(d) M&Qslev 4.  oalifan By

Which is insectivorus plant?
(A) Cuscuta
(B) Monotropa

(C) Vanda

&S 2RI STeUrD 6Tg)?
(A) savglimr |
(B) wrCann_Cgmumr

(©) GUITGRITL_IT

(D) cCyeSgm
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Alcoholic fermentation takes place in which organism
\m Yeast

(B) Fungi

(C) Bactena

(D) Virus

S0&anTeld ABTHSHH HenL_Gumib 2 ulfeanb erg)?
(A) mavl

B)  yeyms

(C) urseflwr

(D) emeugen

The hormone which maintains pregnancy and regulates menstrual cycle 1s

M Progesterone

Oestrogen
(C) Relaxin
(D)  Testosterone

wrgellLmi &wHé wHmb sTLL Heweaw s Frre urmoflégw anmiGuwmer
(A) . yCorQegevig.ymer

(B) el Gymggen

(C) Aersedler

D) Qrev CLmeviegmen
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Consider the following statement.

Assertion (A) : Neutrophils are belonging to granulocytic type.
Reason (R) :  Neutrophils contain no granules 1n cytoplasm.
(A) Both (A) and (R) are correct
(B) Both (A) and (R) are wrong

m (A) 1s correct but (R) is wrong
(D)  (A) is wrong but (R) is correct

SpaanL ansdlunsmer smhsdle QaTans.

ganm (A) ;B Corl.Sldvaer gisar snbs @055 Qeuatenamug)&aer.
amped (R) Al ConlGdasetidr sl CLmGere gyaeraar G,
(A)  (A) npgid (R) afl

(B)  (A) wppibd (R) seupy

(C) (A&l (R) seup

(D)  (A) seum (R) sl

Who is the author of Book Anatomy of seed plants?
(A) -A. Schmidt

w Katherine Esau

(C) Ray.F
(D) K.N. Rao

Mg sreuriusafien o ararenoiwie prew QeueludiLeui

A) A apdic
B)  Csssen man
C) GCpF

(D) K.N. e
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Which of the following ecological Pyramid is alwavs upright?
W Pyramid of energy

(B) Pyramid of number

(C)  Pyramid of biomass

(D)  (B)and (C)

Gerraumeuencun e e1g Choren @Hlenauuid saiby?
(A) =dme saibyy

(B) cranaflsans saby

(C) erenL_saibyy

D) (B) whmid (C)

In mammals the mammalian glands are modied gland of following

1. Salivary gland

2. Sebaceous gland

3. Pituitary gland . ;

(A) 1 only \M 2 only

(C) 1and2only (D) 1and3only

ungigseafle) umed sr&@w arndad Weaaumbd aruSiwurs wrhniul G deuduBHng
1. 2 KT &7

2. aCudhue s

3. G LAl &yl

A)  1wlpw B) 2w @b

(C) 1 whHmd 2 wi Hid (D) 1 wopmb 3 w_Hid
Combined drug in use to cure the Malaria is

(A) Quinine M Fansidar

(C)  Chloroguine (D)  Primaquine

wGaflurees @emriLBEs sHCLNE LWETLHESULGD sal [ WmHbES 6187
(A) @Waearean (B) QGuendlLn
(C) @CeamCymEulles (D) l.‘ﬂmumn@u%&
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Which one called from the development and the maturation of the erythrocyte from the
haemocytoblast?

M Erythropoiesis (B) Erythrocynin.
(C)  Erythrocyte (D) Haemotocyte

SpssanLaupiley Qrés Haly gmssa aflwl CLrleameaugseldimpbg o maurdl pdliss
SienLausMH @ QUi

(A)  aflaHCpmumisen (B) afasCrnengaian
(C) eaflsHCrmena (D) aflw Crensl
Consider the following Endocrine glands :

1. - Islets of Langerhans - Produce Insulin

2. Thyroid gland - Produce diabetes

3. Adrenal gland —  Produce Goitre

Which of the following is correctly matched?
M 1 only (B) 1and?Z2only

(C) 2and3only E, (D) 1,2and3

&@G&n@é&ﬂun'.@drm prenfléoen sridsafa erg sflwrs QuUImBHIW :

1. o av U Comarare - Qeasdmen Gar®&En

2. grmi® &y - gngse ewrlewi Qar(H&En

3. < Mané syl - (e 5P&HE soMpenw QeTHEED
(A) .1wol@o | (B) 1wHmb?2wl @b

© 2wpmid3wl i (D) 1.2 wppi3

~ Which one of the following is need on a non-conventional source of raw material for the
paper production?

Bamboo | (B) Casuarina

M Sugarcane bagasse (D) Eucalyptus

&Gy Qasrr@émst;u[.@dmmmmﬂ@ aeeu wyustyn 2Hussl Qurmens ardlgd  swrilés
vwen (Halmg.

A)  aprdled (B) sas®

(C) smwy ssms (D) werelli e |
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Find the wrong pair/pairs :

1 Metabolism - Sum total of enzymatic reactions
2 Auxin : - Photosynthesis
3. Photolysis of water - Growth
4. Oxidative phosphorylation - Respiration
(A) land?2 (B) 2only
2and 3 : (D) 3andd4
seumnan @enenr/ Qenamaemans seawr (Bl :
& euani§leng LOTHHLD - @L(HGEwrss Anrdlaafien eflanenaer
2. Dy, Gerlen - paflaCGangams
3. Bflen gaflinfargad - euanTss)
4. 2salmCarmm ursvufsgend  —  seuneb
(A) lopgw?2 (B) 2wl (®w
C) 2wpmw3 (D) 3 wHmd 4

Which of the following plant boosts the production of red blood cells?

(A) Turmeric (B) Tulsi

\(w Lemon grass ' (D) Mustard
Yeraumeuanaud ey 6rhs STeurd @rés Sleuliugy 2 HuSHew ST & Salg g ?
(A) weEpger (B) gedl
(C) aguiiFsd ye D) &0

Among the following plants, which one has oil repelling property?

(A) Tobacco (B) Maize

(C) - Hibiscus \(f Aloe Vera
@Qeunmer arps sreurid ‘camdarilamen ellws@id Fper e L wg?

(A) yesltae i (B) wssrs Gemerid
(C) Qswumss ‘ (D) ahprenw
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What happens in human Thalassemias?

2 reduce @ — globin synthesis

2. reduce f — globin synthesis

3. enhance @ and f — globin synthesis

(A) 1 alone correc‘t (B) 2 alone correct
M 1 and 2 are correct (D) 3 alone correct

s&Owr Crmi 2 drerausEhéE ereneu Hant Gundlng:?

1; a — @Gamen 2 meureug GanssliuHHng

2. B — @Ceamlen 2 meumeug @mg&&bu@ﬁmg

3. a wpmb B — GGarmien 2 heumeaug) &Q&ﬁ]&&du@&lm@
A) 1w Edasfd ‘ (B) 2wl @wefl
(©) 1 wHmb 2 w Hw &fl (D) 3 wl@®wesf

Most widely used bioweapon is

(A) Bacillus subtilis (B) Vibrio cholerae
Bacillus anthracis . (D) Escherichia coli

s ureuens LweTuL 2 Wil QWD

(A) Cuileree sLg a6 B). AufCwn sreCy
(C) Cudloae yhsrrélen (D) eaQ@evf&lwr Cerenay

Golden rice is a genetically modified crop. Where the incorporated gene is meant for
biosynthesis of

M Vitamin A . (B) Vitamin B
(C)  Vitamin C (D) Vitamin D

Caraen iff eremug) e wrugy wrHPUULL LW HGD, @de emudlamanbs wrue o uilflu
Qedleysaneng)

(A) eflcflerA . (B) el fen B
(C) alfenC D) efBenD
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The end product of anaerobic respiration is
(A)  Acetyl Co-A af Bihiasicl aléhol
(C) Pyruvic acid (D) Succinic acid

srpdloer seurssdle @ndlurs S ss0C0uneus)

(A) =dera Co-A (B) s spovsanmed

(©C) eumetls suflewbd (D) ss8lafs sdad

Consider the statement :

Assertion (A) : Omega-3 fatty acids reduce the LDL cholesterol which may thus reduce

risk if coronary heart disease.

Reason (R) . People with problems of blood circulation such as varicose veins benefit
from consumption of omega-3 fatty acids since they stimulate blood
circulation and help to breakdown fibrin (clot)

Choose the correct answer :

(A)  Both (A) and (R) are individually true but (R) is not a correct explanation of (A)
Both (A) and (R) are individually true and (R) is the correct explanation of (A)

(C)  (A)is true but (R) is false

(D) (A) is false but (R) is true

Ep&snam)b eursdwnisamen seuefl

sapm (A) : @CGwsr-3 Qaruply LDL Qsmredlgree gonsg @msu Chmi eumeuams
GPNESS Salg W)

e (R)  :  @oés glrsded @apun®-CaufCsrev mrembd oerer weallgiser @GLsT-3
Qamyuenu o QasrarLtd @ss @LLsms FudsH Qués slgsmen
2. ML &GLD.

sflwnen udlene CaHASHESLD :

Find out the wrong statement
(A)  The phloem in gymnosperms lacks companion cells
(B)  Pollination is one mophilous in gymnosperms
The ovules are protected by the carpels in gymnosperms

(D)  Vessels are usually absent from the xylem of gymnosperms

Spsaan &[Hsg6667d SounTaes aliyé sramidsea)b

(A)  PHuGeamevumbsefld  sramuu@n  yCamub  spepsefid  Cgmpews  Qawser
anamuupaudame

(B)  guCamevuibseiid warps Cardama sTHm apanrs HLSSang)

(C) guCGamsvuibsaafien @aadr sriudsad urgsrssiul Herarg

D)  osab spapsalld durgars deusdsdar gutamauibseie arariuBeudoma
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. Which ratio is constant for DNA?
@ A+G/T+C B) A+T/G+C
(C) A+C/U+G D) A+U/C+G

Qo 678 ig..creir.er 69 2_arer Hlevaowimen el
(A) A+G/T+C B) A+T/G+C
(C) A+C/U+G M A+U/C+G

Consider the statement :

Assertion (A) : The eukaryotic cells have four kinds of rRNA molecules namely
28 S rRNA, 18 S rRNA, 5.8 S rRNA and 5 S rRNA.

Reason (R)  : The 28 S rRNA, 5.8 S rRNA and 5 S rRNA occur in 60 S ribosomal
subunit while 18 S rRNA occurs in 40 S ribosomal subunit of 80 S
ribosomes of eukaryotes.

3

Choose the correct answer :

M Both (A) and (R) are individually correct and (R) is the correct eéxplanation of (A)
(B) Both (A) and (R) are individually correct but (R) is not a correct explanation of (A)
(C)  (A) is correct but (R) is false
(D)  (A) is false but (R) is correct

Epsangyyb aunsHwniseer seuef]

sapm (A) : wGasMCwn_iwé Qeasea prang ellgwrear rRNA passmmsemer Qaran@ereng
emeuser apenpCGuw 28 S rRNA, 18 S rRNA, 5.8 S rRNA wpmw 5 S rRNA
snyewo (R) 2 wCsMCumiigé o arer 80 S enpCunCGsmbaser 28 S rRNA, 5.8 S rRNA wpmb

5 S rRNA qpaésapaer 60 S eopCunGembaefiar uELGgubd wpmw 18 S rRNA
40 S enyCunCGambseflen LEIgID sraiiLBEenms).

A person donating blood should have a minimum haemoglobin level of
(A) 10¢g (B) 115¢g

W7 125¢ D) 14g

@8 srend Qewiausn@ apen wallgalld Ganss ULsb GMmés Caudngw afCurEgemmer sieTey
(A) 10 &gmbd (B) 11.5 &igmo
(C) 12,5 &gmd (D) 14 &gmd
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Which among the followmg atmosphcnc layer is most 1mportant for all biological acthty”

(A) Stratosphere M Troposphere
(C)  Mesosphere (D) Ionosphere

cﬂ@_@;@wéleuﬁ)gueh s euafnam_o 2iHéE eraan 2 Wile AsUOLIDSEEEGEDL sryambras?

(A)  evCgnGumrevi@urr (B) LGyrCumreu@wir

(C) BCsren@wir ; . (D) gu@wna&nﬁ]mﬁ

An Ecosystem means
(A) Biotic community '

J Biotic community and its non-living things =~
(C)- Non-living things

(D) Population

FLOED LDGRTL QLD GTMLIZ)

(A) 2l mperaTency

(B) eumfl_sdla 2 arer o Wl(heraTenau mu)g}m e uifellaser
(©)  su9RNasar

D)  Resguwsser

Rejection is not eccurs, when tissues or organs are transplanted from

1. Same individual

2. Identical twins

3. Two different. specieé

(A) 1 alone | 2 alo'ne

‘f 1and 2 . @) 3 alone

fl& sdag 2 iy wrhob QeupbGLINE CTeUeUMSWITETENGUSEDET q;pgga;@a,rrm@m.
1. «@Cy a_uﬂtﬂsmgﬁm B pHS a@muu@m(‘sung

2. @r}La);u.u’rasa‘ﬁ:_g&@;_'ﬁg TR&ELELITg

3. BuCampuul L 2 Wilariisallalimis Gr@és@.d)@ungj '
(A) 1 wi@osd ' B) 2w G s

(C©) 1 womb 2 ed ; D) 3 wiEbsf
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thch of the followmg is the symptom of the-protein deficiency disorder, ‘Kwashiorkor’?
(A) Fatty Liver ' (B) Plgeon Chest
(C) - Burning feet M Pot - belly

lﬂdrw@wmmgbgjﬁr, 72 ség; (& EDDLITL_Tes “@,wnagugm’rg;ﬁ'—ébr P @D wng?
@A) Qa;n'@l_]q Blenmbg Haedyed . - B) uypr Lo'm'rq &0 '
() ungerflase ' Te " -(D)  urean GL.{W&I{D )
‘Which z;n;ong the follow'mg is used to treat sewage?’ | |
| “(A) D1atom Fucus B .Chondrus, Chara

/ Chlorella Chlamydomonas (D) Chondrus, Gracilaria

Epaumeuaneupbicd &lﬁeq B ssHaMinGe Lwearu®eug 6rg?

A rwmiob, SaSysen . - (B) ‘e;rrésﬁ.'_qsio. Gasym’
(C) - @Gem@yder, é\mmﬂ(‘én_rr(ﬁinhrrmrmiu A D) s _gev, ArrHCeofwmr
Which one of the following is not reserve food of fungi? " ’
(A) Glycogen l _ . (B) IFat

& stacch . . D) * Both (A) and (B)

lﬂGﬁT;ﬂl@QlGﬂG\Ji‘bg}ld‘f aTgl 5@';5@5@&'(35@ LILY RGO DIGVE P

(A) 'é'alanm@a;rrggdn (B)  G&mreply

©  eortE : (D) (A) wppid (B) @reim@io’
The apparah;s used to demonstrate fermentation is '

(A) - Respirometer ‘ 5 "+ (B) Thistle funnel
w Kuhne's tube L (D) Wilmott’s bubbler

mlenrssa Hlspanel ﬂ@lﬂé&&, 2 S&|lb 2 USTenTiD

(A) Qe ACrmSL st = B) Hfle yeed

(C) Fn.GoT @@mm | " D)  &fldwm_ Wl srgand
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The complete manure is that which supplies to the soil :
(A) - S, Kand N . N, PandK
(C) SandN - (D) S,NandP

: &Qéa;abTLsugb@sb TEEU G (P(PEDWITEN 2 JIOTs LOGRT GO ERTE Q&th)ml_é];ﬁQ?
(A) S, Kmrj)gubN . ' ' (B) ‘N, Puopgw K
(C) S uwmgodN . - (D) S, N.opgid P

Whl(:h of the followmg is ketohexose"

(A) Glucose - _ MFructose

(C) Ribose ‘ : (D) . Galactose

tﬁ]mm@wmwmgm g &L_(Bv_rr Gg@&@mm\)?

A)  EEpsCaren ) B)  SysGLmaiv
(©) MACGumev . (D) sror&Gnev.
‘Match :

(a) Agaricus bisporus 1. Milkylmus'hroom_

(b) Pleurotus flabellutus | 2. Button mushroom

(¢) Volvariella valvacea 3. Oyster mushroom

(d) Caldcybe' indica 4. Paddy straw mushroom-

@ O © @

yfl

3. 4 1

B 2 4 1 3

© 2 i =g 3

(D) 1 2 3 4

QurmEsS :

(a) ssrisa ausGumyen S ume sreTren

(b) QA Crm v GemQuaCor e 2. ulLer srarmer

() euraCGaurfludar aureGaidlwm, 3 19 & snermen

(d) CaCarensd Beurg s 4. eausCsnd sredn
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What is the characteristic features of colour-blindness - Given below.

(A)  Absence of rod cells in retina Absence of cone cells in retina

(C)  Absence of lusture in lepé - | (D) Lack of colour pigments in the Eye
ADsEO0 THUGIEHE sTraTD _

(A) Qgﬁ.ig,é?ﬁ@ﬁ]d) g Qeaed BdOTEEND (B) Gm"_mrmrraﬁl@ Canen Caed Gearnppmad
(C) Geendled Flsb Ga6n S5 (D) .&aﬁsrs,aﬂd) Hpulsar @aoarssme, |
The objective .of conservation of Bioaiversity

: To preserve biodiversity. . '
2. To preserve geneuc resource.
3.  Tomanage the natural resources.

Select the correct answer using the code given below
(A) 1lonly % . _ 1 and 2 only
(C) 2and3only - M) 1,2and3

2 ulflen LGTENLOENLI GTEIQITH) &L@u@ﬁgcﬁmb.

1. eu@fler Qg@ésa;éséng, S_OUUBHEHIEHD.

2.. wgyuilflar Wiy LeTUSener LMgISTHS5e.

3. Quimens eueTEISmeT ;Elr'reurréﬂég,eb. o

Epaimeuareumled Grgj &l eran Caip@s(H&s |
(A) 1 i (b. (B) 1 wpmd 2w (ib
(C) - 2 wmmud 3 wi_{Hibd D L2wpmb3

The sgminiferous tubule is the supporting cells afe‘cells of specialized functions called
J:zlls of sertoli (B) cells of labules
(C) _cellsoflegdig - , \ (D), cells of scrotum

e @enQumss 2 midld Qaudiaillizey Gsmgua,@ L&G&LIGIDTE @@5& Foulg ) aﬂg)uq Lenflsean
Qeunuggnigw Qemser

(A) Qep_Cured Qevaer (B). CadGumed Qadser
(C) &y s Qeawaer o (D) elenglemuuded o eren CladaeT
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Which of the following statements is/are correct regarding blood volume in human beings.
1. In adult human béing the total volume of blood is about 5 litres.

i The average volume of blood is caleulated on weight bﬁs'is.
3. In human beings approximafely 70 ml of b_lood for each kilograrq c;f bod} weight,

Select the correct answer using the code given below, .

(A) ' 1 only ' (B) 1and2only

(C) 2and3only M 1,2and 3

5@@&&@&50&.@6161 arsdushe valzgoeu @rss ey aaudd sflurens leélmunu.c.
CaipOsEsD. |

L wallsgyenw Qungs @)rss sarey synafluns 5 AL i QmaE.

2. . wellsgienw Qs sierey srref e 1 aaulSmbs ssaur.’ssﬂulhu.@ﬂ@y.

3. wellgayent w @rss ety 2@ aarwla 1 AGardynuée syreflure 70 ml Gossn e

semabdioudps. .
A hormone which is responsible for fright flight and fight.
M Adrenaline | ~ (B) Somatotrophin
(C)  Oxytocin v . (D) Insulin |

e T LWL, UTHETILESTE (5 SO WHHID &dmsm;uﬂ’l@g@;éa&snm@)h.ﬁ(?mneh g ?

A) o AancSen o (B) GsrGuonGuime yman

©) obedCLnflen (D) Qensedan
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The principal function of centromere is
(A)- Chromosome splitting
(B)  Formation of spindle fibres
(C) DNA duplication |
M Movement of chromosomes to p.oles.

G&dm'_Gr;nLﬂlquﬂd.n Gpgc&tmmﬁ LI‘GBFﬂu.JITQTgI

'(Al) @CrmCrCGsmd Yereymige : '

B)  sdisCared Genpser &,@suné;#fo '

(C) ‘ -u}.crein.q. @qﬁ_tq.ilqrrgé)

(D) @GmGwrrG&mb&e’rr gl@mlﬁﬁ@é&@ B&ITH0

Asymbiotic bacterium capé_ble of fixing atmospheric nitfogen

(A)  Rhizobium | " Clostridium
(C)  Agrobacterium ' (D) | Staphylococcus

sl QUi Sidrs euafioam_ s aeter MBLTR e @me’udu@@gﬁb $lmen Gumpm undeflwbd

(A) GDUG&ITIS]UJLI). - _ (B) Hermevig fliguib
(C) =ECrrursefun : D) oL S Cansrésa
In the presence of —————— protein is differentiqted from carbohydrates and fats.
W N, | ®) H,
© 0O, D) C
yrgoneng, sriGuraman Crl@sar wHmb GsrupuiyselamHa) ' 2_GTeTSHTE)
Caumubdms. '
A N, (B) H,
© O, D) C
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Which of the following is not a function of transpiration?

(A) uptake of water

@( excretion of minerals

(C)  cooling of leaves

(D)  uptake of minerals

EC QanBssul Hearerde ergl Srreflls Curédlen Lianfl @deane
A) bt fleragd

(B) saflwrisear QeualGubme

(C) Q@eveulcn Gaflraliy

(D) seaflwrisdr o draflpssa

In forensic science, —————— has become useful technique to identify and found
relationship of a person.

'DNA finger printing
(B) Antisense RNA technique
(C)  Animal cloning
(D) Tissue culture

sLw leflwedle, em msoﬂg,snarr SE@LWTamD STgnSe wHmib 2.pellatapamneal s 2 sa b
Qamb mi b

(A) DNA &lpaCGrens ufley

(B)  peingQeear RNA technique (RNA Qgmflinmuib)

(C) Nemdear gCermefin

(D) A& eueriniy

Both extra and intracellular digestion take place in

W Dugesia (B) Star fish
(C) Poly stoma (D) Turbellaria -
Qeogis@enesd wHn Caagse deuaiCuub Qefioreand peLQunb e 2 WWilamnd
@) guddun (B) plepgmben
(C)  urdlGenGLmom (D) iruaeGafur
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Consider the following statements

Siamese twins means

(i) Twins fail to separate completely from each other
(i) Twins have no variability .

Choose the right answer

(A) (1) is correct and (ii) is wrong

(B) (1) is wrong and (ii) is correct

& Both (i) and (ii) are correct
(D) Both (1) and (31) are wrong

Spsar eursdwiisaner seuef]

Swidlev Qi enL it ereanug)

() @rievwisd @maflLllmbs eumet wpupeawwrs GAflurdmssd
(1) @riemsafe Cu Caugur® sraruuieaudaome

sflwurer ellenenw CoTpOHHESD
Graafian follicle are characteristically found in the
(A)  ovary of frog ovary of mammal
(C) thyroid of mammal (D) testis of mammals
SymAwen urellfler eranug) — e efluisdlengHlan LiGTUTS 2_aTarg.
(A)  seuenemuler 2@misibd (B) umgn’guller Si@m_std
(C)  urgn’ipulen engrmi ' D)  urgmn_iguien ellbsen

Which of the following is called as ‘biological catalyst'?

(A) vitamin M enzyme

(C) fat (D) carbohydrate

SipssaT_aupmiet o1y ‘2 ullflwe eflenamnusdl’ erammepss LB Sng?
(A)  eveulLiflew . (B) eremensid

(C) Gamupiy . (D)  sriCGurenan Gyl
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The process of transfer of genetic information from DNA to RNA is
Translocation (B) Transversion

y Transcription (D) Translation

wrder sseudsmer DNA aflefimbg RNA afii@ wrhmiw Cewe.
A) LynemevQerCasager (B) LygnmenevQeuiragen
(©) Lyreevdlfiiagesn (D) CyremavCaage
Endangered plant species are conserved through
(A) Herbarium

Invitro/Invivo

(C) Gene bank
(D) Reducing pollution

a@bgcun@fn Seuy QlmE@eT @eUeumy LIMSISHTHEQMLD.
(A) QanmCufww

(B) @ Cyn/ @éineﬁ\@sun

(C) gen Cums

‘D) wrss HUUTR

Sickle-cell anaemia is due to

(A) Viruses M Genes
(C) Hormones ‘ (D) Bacteria

fadle Qe aflflwrellDé@ snrewTons @)mHULS
(A) eaungeuser (B) glensan

(C) anpnmiCGuoranger (D) uréefursser
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The matrix of blood is known as

M Plasma

(B) Blood protein
(C) RBC and WBC
(D) WBC and Platelets

@nss Culféen eraniu@Beug
(A) LS\mﬁdumn
(B) @uss ursw
(C) @uss Slauiy wHmb QeueTanemuign&Hser
(D) @rss Qauetamerwuign LOHMID QTHS HL_(HEsET
The wood and bark of conifers have special chanr;els filled with
(A)  Latex | ®) Oil
" Resins . (D) Tannins

el wrisaflen sl wHML uleLsa Apuy aflsar Qarar® Peapord Hrods

SmemriuHib.
(A)  wroure ' (B) eranQemis
(C) Yéfen D) Lreflen

The opening and closing of leaves of Mimosa pudica is due to

(A) Thermonastic movement .
(B)  Photonastic movement

M Seisomonastic movement

(D)  Chemonastic movement

G (@wGuonsr L s srarsdar Qaasd aphad wHpb Hnsse Aswguasnen Guui.
(A) Geutiuepsnt @uésid

B) gdfipriL @uésd

€) pOss uarish Quisd

D)  Cafenii Quiid
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Which one is an important vector for Plague disease?

(A) Mosquito (B) Housefly
& Flea » D) Snail

QG Cpmlen pédlu sLES ag?

(A) Qsns B) w .

(©C) JQafl (D) psos

Major respiratory Substrate 1s
(A) Protein (B) Vitamin
W Carbohydrate (D) Fat

seundlgsaiier Qumburgib uweTuRSsLLHD geriQurmar
(A)  yrsod ' (B) eeulLfén
(C) asmGurenan Cyl (D) Gamupiy

Who is known as Father of Taxonomy?

(A) Hippocrates M Carolus Linnaeus

©) Gregor Johan Mendel (D) Aristotle

SN g uidlen $Hens eTenn @ PasliLBueur wri?

(A) abluCurdlQrLev (B) &Cpmevav NenCGeamucn
(&)} st Cgrapren Qe o (D) siflevrm_iged

Among the four stages in oxidation of glucose, Which one is common in all organism?

w Glycolysis

(B) Oxidative decarboxylation of pyruvic acid
(C)  Krebs cycle

(D) Electron transport chain

GEpsGane oaflpGannn pe Qupn prag Hoosaid, aps Bapey adwar o ulflamaaign
penL Qumdlenmey? ; ;

(A) dlewarssnadsiay
(B) eumeils sl S aflnGann sriuea béswamL s
(©) Aglev sppd

(D) craslgren sLgg smdlel
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Match the following :

(a) l;emon 1. Tartaric acid
(b) Apple | 2. Citric acid
(¢) Grape 3. Oxalic acid
(d) Tomato 4. Mahc acid

(a) (b) © @

A 2. 1 3 1

B) 2 1 1 3

M 2 4 1 3

(D) 2 3 14

&psravuunep Aurmigs z

(a) am%c 1. urhunﬂ&auécmh
(b S 2, Afs safab
(0 Symiens 3. aypkanells sfaw
(d) sésnef 4.  wrdls sflen

Project Tiger in India started as

W7 1973 B) 1900

() 1980 (D) 1983

yellungeriy HCLb geaussuu L e[
(A) 1973 (B) 1900

(C) 1980 (D) 1983
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HIV size is about
(A) 10-140 um (B) 10-100 um
(C)  140-100 um : ] " 100-140 um

e1é.g.68l Wen LHWEN ST

(A) 10-140 um (B) 10-100um

(C)  140-100 um (D) 100-140 um

Which one is the largest cells in white blood corpuscles.
(A) Lymphocytes (B) Basophils
y Monoscytes (D) Neutrophils

Epaam_caundler Wel Quilw @rss Qeuetenanwignssar eTeneu?
(A) NwCumms ser (B) CGuGsr . Saaar

(C) GunrCGenrensl Haen (D) Ay CGon'wGoser

Who among the following persons discovered an alternate pathway for the utilization of
glucose by the living cells

(A) Embden \M Dickens

(C) T.D. Lysenko (D) Bateson

Qemeumpp  puitsaiie e gmeut, 2Wmearer Qsdbsar @EpsGarans wrHY afllgud
vweruhsgdlammen cramLiansé sar (g SsmT?

(A) eribLen (B) wésenen

(C) T.D. waQsenCGam (D) Cutlsen

The Longest bone in the human body is

(A) Humerus (B) Spine
o Peuius (D) Tibia
weilz 21_eller s Bemomen eribyy
(A) Gupens ergyibyy : B) wslsgoy
(C) QsrenL ergibry (D) &ne apen@engioy
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Which year new rabies vaccine was discovered?
(A) 1905 : (B) 1912

© 1985 G 1980

Crissaiiu yfu sEUUS wEHBE b e ® sanBdyssiulLg?

(A) 1905 (B) 1912
(C) 1985 (D) 1980
Match the following

(a) Corpus luteum Testosterone

(b) Graafian follicle Inhibidin

(¢) Sertoli cells
(d) Leydig's cells

Theca interna

ol

Corpus albicans

(a) (b) (c) (d)

@ 2 1 3 4

sﬁf 4 3 2 1

© 1 2 3 4

(D) 3 4 1 2

Qummss s

(a) &nituey @iliguwid 1. QrenGLnevieCyren

(b) AgrlQwen Sundlisdler 2. @emablDigen

() Q&r CLnel Qedvser 3. Sésm Qe e

(d) 689}.&; Qeasar 4.  sriruey s saTey

The vernacular name of this small herb with leaves sensitive to touch is

(A) Mimosa quadrivalvis
(B)  Mimosa microphylla

M Mimosa pudica

(D) Mimosa pellita

Qan® e_awiia) BEHs Gaoasd Qaran.. An Qay. Gsen greuy Quuwir UGWD.
(A)  ewCorsr geaur CravgGafiey
(B)  enwCorsr eninsGiyme -enLicem
(©) ewCuorsr Wgsm '
(D) enwCGurer Queei L
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Name the proteins which are caused for the functions and operations of Methano trophic
bacteria. Choose the correct answer

(i) MbnB
(i) MbnA
(i) MbnC
(iv MbnD

(A) (1) and (ii) are correct
W (1) and (ii1) are correct
(C) (1) and (1v) are correct

(D)  (iv) only correct

QuwssCeam_mds Unsefurssefen G&méun@&@&@ SMjesIone LJsmasen ereneu? sflwmen
eflen_enw Gairey Qs

() MbnB

(i) MbnA

(iii) MbnC

(iv MbnD

Binomial of ‘Vilvum' is :

(A)  Acalypha indica u{ Aegle marmelos
(C) Cissus quarangularis (D) Mimbsa pudica

eflevaud sreugsdlen @m Qamm Quwii
(A)  ssrellur Gewmgsm (B) ¢éle wrmblereu
(C) Seav gaur_gmis@ariien (D)  enwGuorsn Lgsn

Advanced family of monocotyledanae is
(A) Musaceae : (B) Poaceae
(C) Solanaceae M Orchidaceae

e cilgdena greaurs GHLuSE e EBmtbun@ 2UnLHS GHDULD
A OyyCws (B) CunCué
(C) QarewCGenadl (D) oisfGLad
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Pick the odd one out:

1. ATP - Adenosine Triphosphate
2. FAD - Flavin Adenine dinucleotide
3. NAD - Nicotinamide Adenine dinucleotide
4. EMP - Embden Meyerhof parnas
I 4 ' ®B) 2
© 1 . D) 3
Qaupdayer Asm_mAdens geaneon seflenoliLDEs)s.
1. ATP - g Cammengen CanrumavCuil
2. FAD - UGarallén g menen el BlsallGuran ()
3. NAD. -  HCGsmgenanw® 2igmenen et HursefiGuiren (i
4. EMP - erbLen Gowr@mml LmTenmen
-Qaupdlo ag sefiss Hpdpg?
A) 4 . B) 2
<€ 1 (D) 3

An adult is defined as one in the age group

(A) 14-35 ' M 15-35

(C) 16-35 (D) 17-35
auwg eupCam eremsu Bueuff —————— QUUISIS(S LI L GUTSHET GTE QUGN TUIMISSUILIL LTI
(A) 14-35 (B) . 15-35
(C) 16-35 (D) 17-35

A newly discovered organ could change own understanding of Human Anatomy is
(A)  Lunkivitus (B) Pansitium
(C) Intestinium M Interstinium

waflg 2 Lpeadlued updu Bog Lilgmea LIHDEEG W udsna sarLBluciu e iy
(A) eomudell_ev (B) wvenadiquib

¢

©) @en augeiun (D) @enireagaiub
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Consider the following statement, choose the correct answer from the codes given below.

Assertion (A) : Beadle and Tatum discovered the relationship between genes and
enzymes in fugus Neurospora.

Reason (R) :  For their work they were awarded Noble Prize.
M (A) and (R) are correct and (R) is the correct explanation of (A)

(B) (A) alone 1s correct (R) is incorrect

(C) (A) and (R) are incorrect

(D) (A) and (R) are correct but (R) is not the correct explanation of (A)

&pengyd eursfumsear SglueaLwns deran® sflwnaens Coirey Qews.

samml (A) : Basens@n Qpraepé@n @ Cu oder QgrimGmen Sigd wLHHID LTLL D
grenuauirsar By, CoravGumym erenm Ehemsuile seamibgent.

smamd (R) @  @bs siflu sar®Gy0@psrs Corud ufls apmstiulLg.
(A (A wopod (R) @ran®o sM (R), (A) 2o w shure eflaméswoneo

(B). (A) v B &fl. (R) saugy

(©) (A wpgd (R) Grewr®id geumy

(D) (A vogw (R) @rawn®id 6M (R), (A) 2.enw sfiwnen eflerésindre

r

The family included under the series unisexuales is

(A) ; Solanaceae

W Euphorbiaceae

(C) Malvaceae
(D) Musaceae

welQsssGauden e cuflensudiénr 2 drer @@bUL
(A)  QsreorGard

B)  weCurmIGus

(C)  wreGad

D) BGed
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Who proposed the “Natural Selection Theory”?

(A)
(B)

Lamark

LLinnaeus
Hooker

W Charles Darwin

Qupens Caiey Aamearensemu Qeuaflul i wi?

(A) ewrs

(B) SenCGeman

(C) QD °&HSHIT

(D)  &nrevev Lmiellen
Statement 1 : When blood comes out of the blood vessel haemostasis occurs.
Statement 2 : Thrombin converts fibrinogen into fibrin. .
Statement 3 : Occurrence of blood clot with in the blood vessel is known as Thrombosis.

Statement 4 : Heparin present in Basophils inhibit blood clotting.

(A)
(B)
(9]

Vg

gamm 1
gamm 2
sapm 3
s 4

1 wrong, 2 correct, 3 wrong, 4 correct
1 correct, 2 correct, 3 wrong, 4 wrong
1 wrong, 2 wrong, 3 correct, 4 correct

1 correct, 2 correct, 3 correct, 4 correct

smub gHul @ @résw Qeueluu@ibCung afCuomaLrfen Careméng).
g Crmo e .eufiCanmmanan < .aniflflanrs wrpmlamg.
@555 GYrigier @rés 2 apse gGrmbGuréley aaru@ib.

CuGsmleaaiia o_dar afliiumien @résib 2 @nsme oL Qsiib.

CumaamiuL_L Sammiaer &flwureneaneuw eTen Serrim).
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It' is the inability to recall memories from the past

(A) Stroke

M Amnesia

(C) Alzheimer's disease

\(D) Meningitis

@BCrmu samn_aufsar sLbs sne Hawaisamer Hlanarey san @uieng
(A) US&SEUTSHLD
(B) swalflwn
© owalBui Cpmi
D) epawars smisse
Write the essential component mineral for the formation of chlorophyll.

(A) ‘a’ chlorophyll (B) ‘b’ carotein
Magnesium (D) Xanthophyll

udensw Hoblaser 2 HusSHaE Camauwnen saflom erg)?

(A) ‘a’ uEemswid (B) ‘b aCGynmigenmi(psar
(C) Qusatdlwbd (D) &G-S
Match the following :
Hormone ‘ ' Disease
(a) Deficiency of growth hormone 14 Diabetes insipidus
(b) Deficiency of vasopreesin 2. Grave's disease
{(c) “Deficiency of thyroxine 3. Dwarfism
(d) Increase of thyroxine 4. Cretinism
(a) (b) (c) (d)
A 2 3 1 1
o 3 1 4 2
@) 3 2 1 4
@M -1 2 3 4
Qunmsss
anmirGlomes Crmlser
(a) euarT&d apmrGmes @GmDeus T anLwir@dueesy Gensibav
(b) aunGenrl Ygevedien @enmaugred 2. £Crellenr Cpmis
() ezTTHedlen GMDaISTE 3. GETETH SN
(d) engrraeadlen fswTeug TR 4. AR g eflevd
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The production of Phyto-Plankton is reduced due to
(A) The burning of Hydrocarbon
(B) Deforestation

\/ Depletion of ozone layer

(D)  Climatic change

cemULGLT Semii_e 2 HusSH GDws sryemnd
(A) enapl_ Cpr srTucnsener 6Tl &6
(B) srpsefien sifley
(C) @Csren L &yflay
(D) auraflenew LIDOLLHGD
Kala-azar is caused by
(A) Plasmodium vivax

M Leishmania donovani

Leishmania tropica
(D) Trypnosoma gambiens

sror &t Crmis smyenfl

(A) QermevCGomguid epcusungen
(B) dSevCuweflur CLrenmeureafl

(C) SevCuweaflwr gymlssn

D) @ AuuGenrmCamor CabGlwesev
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Match the following and choose the correct option :

(a) analgesic 1. paracetamol
(b) antipyretic 2 penicillin

(c) antiseptic 3. novalgin

(d) antibiotic 4 iodoform

(a) (b) (c) (d)

A 3 1 2 4
(B) 2 1 3 4

3 1 4 2
D) 1 3 4 2

Spsear_eupeonts Qurmsd sfuraeupaps CsibAs@:

(a) aeuedl Hleunyenfl 1 urgrd L moe
(b) &y Hleurgenf) 2 Queifedlen
(¢) yeoy sHLILNEN 3. Crmeumrcogien
(d) mewmamuiraHfl 4 GG UM MD

Which is called as ‘Indian Flying Fox'?
(A) Crow

Indian Parrots

M Indian Fruit Bat

D) Owl

‘ArHu upEEL BM’ Tar S@WPESILHUF 6TF)?
(A) snéews

B) @pdu fef

©C) @bHw uy Qeueraumed

D)  pos
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= and families are grouped under the division
Monandria.

W Zingiberaceae and Anacardiaceae
(B) Rubiaceae and Asteraceae

(C) Zingiberaceae and Asteraceae

(D) Anacardiaceae and Rubiaceae

Gumearmegr_fwim méﬂ@eb DHOID GHbU Freurmiser
auamsUU(HSSUIUL (HeTerer.
A) AedQuCné ; semsmiyCué
B) mAACwA ; gyev Cré
C) HeAuCné ; gyevCré
- (D) semsriyCué ; mGwCs
Twelfth International Botanical Congresé was held at Leningrad, USSR in July
(A) 1930 (B) 1976

& 1975 (D) 1965

veneflQparr_nmeug sfeo 206 sraugelud sild Csrelws refurelgiarer Qeeflar Sy

erangfi_gdle g Oane D By () Salgwig).

(A) 1930 (B) 1976

(C) 1975 (D) 1965

R.H. Wittaker classified living organisms into Kingdoms.

A 2 B) 3

© 4 | 5

RH. I CLsar eamuar Soaisg 2 ulflaismenyn 2 VBRSNS
cuansLIL(HSSerir.

A 2 B) 3

© 4 @™ 5
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Match the following :

(a) Oviduct 1.  Fallopian duct
(b) Vas deferens 2. Vagina
(¢) Gamete Intra fallopian transfer 3.  Vasectomy
(d) Cervical cap 4.  Tubectomy
(a) (b) (c) (d)
A 2 1 4 3
By 3 4 2 1
© 1 2 3 4 -
M 4 3 1 2
Qumsgs :
(a) e preTd _ 1. QuCeridwer @rd
(b) eflBg Hmemd 2. sedlssmosumi
(c) @m&@#é) SiamL prer 2 L deismsd 3. anbesii
(d) smssmL Sevy Feuey 4. lorgQuéLlﬁ

The first human heart transplant was performed by professor Christian Bernard in the year
(A) 1959 o (B) 1969

w 1967 (D) 1957

waflsafler Wwaen Wsors @sw wIHY Simeeé félsmsiiaear Cur. dblevgwimer G]Ln'ramrfr@ qu)g,
2 .

(A) 1959 (B) 1969

(C) 1967 (D) 1957
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The Extra cellular fluid of blood is

(A) RBC (Red Blood Corpuscles)

(B) WBC (White Blood Corpuscles)
w*™ Plasma

(D) Lymph

BréssH0 2 drer QsaGeuefls Hyeud

A) @rés Haulugyssen
(B) @rss euetenamwigmibser

(C) SeTmeuLnm

(D) O
Match the following :
List I ‘ List I1
(a)  Equisetum ' 1. Water fern
(b) Marsilea 2.  Horse fail
(c) Cyathea 3.  Clubmoss
(d) Lycopodium 4. Tree fern
(a) (b) (c) (d)
d 2 1 4 3
(B) 4 2 1 3
(C) 3 4 1 2
D) 4 3 1 2
Epsaam_suneann QUTHSSS |
U guied I uligwe IT
(a) mw&el&L1b 1.  fprQupef
(b) wrrfleSiwm 2. @Henyeunéd
() enswrdwm 3. &l wmen
(d) eesCarGumgwid 4. wrQuryef

SVEHFLD LilFemFdh@ FLOLD.

§2(H BT 2_BIK6T I Td Cauemed Harey BlewesreurT@H CUrgl Hwey O1FUIgh VEHFLD QUTBISHTHTH6T.



ARAM TNPSC 2.0

TNPSC PREVIOUS YEAR BOTANY AND ZOOLOGY

280 QUESTIONS (2013-2020)

In pesticides the example for contact poison 1s

W Rotenone (B) HCN
(C) Parathion . (D) C,H,

&6l Qanadlsaila, Agr iy elaysdH@E @ 2-Sryemd

(A)  CpmgCenrmen (B) HCN

(C) Gugrswmen i (D) C,H,
The enzyme that joins DNA fragments is

(A)  Restriction endonuclease

(B) Lipase

W@’ Ligase

(D) Peroxidase

\g.6T611.6]. GamHaemer QU (HaughHE LweaLRSsILBD G;Drrgl.
(A)  Quevgfsagen eranGL HliyselGuen
B) @auGuey
(C) eaGsev
(D) QuprsedCLev
What is physical and mental dependence on drugs called

(A)  Neurosis Addiction
(C) Sedation (D) Indication

2 1@ fHunsab wafHULTS DHHEISEHEE Hg@LWNGD UPSEHD
A)  HuyGrredien (B) sigsagen

(C) vwssw/CeGLagen D) Loy Caagen

SVEHFLD LilFemFdh@ FLOLD.
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Where does oxidative phosphorylation take place?

(A)  chloroplast « mitochondrion

(C) ribosome - (D) lysosome

S&eflgCanpp uravGur. Cailiy e CrflGépg?
(A)  usmsafsnd (B) eowl CGur srar_flwen

(C)  enCGunCsmb . D) eaCsrGsmibd

Which plant is an excellent example for autonomic movement of variation?

M Desmodium gyrans

(B) Crocus sativus
(C)  Oxalis corniculata

(D)  Oxalis latifolia

- B Qués LTHPSADG swe HPHs o TTMIONES S STeulb erg?
(A) QrevCGumgwid ensyenen

(B) - @Crrsev senL_cuen
(O ysewrelav smivafgGaLLm
(D)  sevrelen Ceol g Gumewim

The seeds which contain abundant glyoxysomes are
(A)  Dry seeds (B) Wet seeds
M Germinating seeds = (D) Shrunken seeds

ﬁmmmn&q&@&n@s@m Quilblgonss Qsmemr eNlengaar
(A) 2o elleagser (B) mrellengser
C)  weaaseEbh damssar (D) &@réuﬂuj eflengaer
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Robert Gallo discovered HIV which causes Aids in Year

(A) 1994 1984

(C) 1988 (D) 1985

@orur’. CaCar eniemen 2 meuns@id HIV earaavs sar®Glinss am®
(A) 1994 (B) 1984
(C) 1988 (D) 1985

An example of C; plant is
(A) Maize

(B) Sugarcane

(C) Tribulus

W Wheat

C; sreurmisEné e THd568T_H

(A) wssTeCemerd

(B) smwy
(C) CAyeev
(D) Cargenw

is composed of one or more cenospecies that are not able to intercross.
(A) Family

M Comparium

(C) Herbarium
(D) Ecospecies

Qe owg L &l HF Hpfamsmas Qarar., soulas swl Cealwng
STEUNE G (LHeUMGLD.

@) EebuD

(B) &sbLCUMw

(©€) GQaprCGulwwb

D) Ephews dpdend
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An example for C, plantis

o

(B)
- (©)
D)

Sugarcane
Potato
Wheat

Rice

C, sraurmsEsss @ TO5565T [

(A)
(B)
(©)
D)

S(HLDY

2 (HEmer
Cangieno
@ped

Statement: For a person fitted with artificial pacemaker after 7 years battery for the

pacemaker was replaced by surgery

Reason : The pacemaker lithium battery lasts for 7 to 8 years.

(A)
(B)

'

(D)

Sadmy

Statement correct and Reason is wrong

Statement and reason are correct but the reason is not explaining the statement
Statement and reason are correct and the reason explains the statement

Statement and reason are wrong

Qswmens Cuev Cwésr QuIBmSELLLL GOHUMES T wMHsEHHE NG meme
8flsews ppad Cuav Cuasmesrer urLfulamen wmsgieul wrHdl Qurmsgdemmi?

srpend . Guev Guasfld eder digdund umif 7 en@aa wsd 8 yarBsdar ey

(A)
(B)
(©€)
(D)

QewduL_S5niguig).
sapy & sryeRTd Heumy
sy & sryesnd #f e smarTd smpeap efassaldma
samm &6 sryewrd sf sryed sapeon dleragSeanmg

SN Heu STTETLD SEu[Dy
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The method of permanent birth control in male is
(A) Tubectomy

(B) Vasectomy

(C) Thyrotectomy

(D) Hyserectomy

DY ETEEHEETEN QI Flenaimes S(HSSML (PEMILIME D

(C) mg(‘équ&L_L&
(D) eapsit&LIO

An essential oil present in lemon grass can prevent vomiting

M Citronella (B) Limonene
Capsaicin (D) Piperine

Qawer flyrediay 2 crer cunpanw 5B &G Coemaeuwinar erambanis ClummeT g ?

(A) ALCprG@peeam (B) NCuwmaflen

©) Csumsden (D) Quinifen

The movement that takes place is response to touch in plant is called
Thigmotropic movement (B) Hydrotropic movement

(C) Chemotropic mwen};ent (D) Aerotropic movement

96

sneurgdla Asr® 2 amrieure Gn Aés aiu.lq.u.r SNDEFCUITENS] STEIEUT D1, PEH IO E DEI?

@)  HiComgymds siwsa; B)  aan Cymgmils siesey
() ECwmgymils oeea) D) GCrmqymis siensey
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Mutant variety of wheat is

(A) Oenothera Lamarkiana (B) Castor Aruna
(/" Sharbati Sonora (D) Mirabilis Jalaba
#hd wrHw Cangied eums

(A) mGam&yr eomomisSwmen B)  @TEES Bi(meTT
(C) smud QenCeurmyn (D) L&qmﬁloﬂch) RGO TLIT

Alkaloids are a group of toxic wastes products, but some are useful to us. Match the
useful alkaloids and their sources :

(a) Quinine 1. Opium
(b) Morphine 2. Tobacco

(c) - Tropine 3. Cinchona
A(d) Nicotine 4. Withama

@ ® © @

@3 2 4 1

3 1 4 2
©3 4 1 2
™1 3 4 2

SpDESTUREST aauema Béed sfley’ QUIGLEMEGD pemd Hauseid Ho BusE
vwaL@Apg. LuaLHD dsemnbRsmeanb auphld gasrhsmenyn durmsss.

(a) Elenemdr 1. gbunb

)  wriaSen 2. yaslloe
€ CCrmien 3. AaCsrer
{d) HCamqeén 4. SiapsayT
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Reduced leaves and Sunken Stomata are the characteristic features of
(A) Epiphytes
(B) Hydrophytes
(C) Mesophytes
6 Xerophytes

@hssLulL.  Qowsdar . wHMD weanellL Ge@essmaser aanbdlar  Ga@TrFwl
LIGRTUSETT@D.

(4) Qanphms sreurmuser

B) Breumps sreugriser

C) QeLfoasgrarmsed

D) aper flews sreugriser

“Evening primrozge flowear open at night and close during the day”. The movement known as
-ﬁ Photonasty o (B) Epinasty

{C) Hyponasty _ , (D) Wyetinasty

=18 wpgneny ek Lssdle: aps. Gusiie by Brsed Paplbe
(A) g cented _ ' ®B) Cuwd uas' cuaniréd

(O  @gluss eueriéd , . (D} @g’m mama'eﬂ

If solanum nigrum- belongs to solanaceae, acalypha indica belongs to Euphorbiaceae, Cissus
quadrangularis belongs to

(A/ Vitaceae
(B) Verbenaoeae
(C) Violaceae

45)) Rutaoeae :
Qaramants wpard — QemnGand) GODUSHEE FTTHEF. Serdur Ganger ~ g@um&@uﬂ
@@mug,@g& BTSS!, Flss @mngunm@wnﬁlm B @@mug,mg,é FABEH?

(A) el .Gl
(B) QeurdGend)
(© waCurCafl
(D) oGLA
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Flavonoids mostly accumulate in
(A) Chloroplast (B) Chromoplast

\V Vacuole (D) Cytosol

aSlemmeuemiiRae Pungieuns Syl srariubog Gidld
(A) @&CGanrmCGrmYermeni (B) @&CrnGumlermav
(C) aura@EGume | (D)  #Hewr_mev

Twelfth International Botanical Congress was held at Leningrad, USSR in July
(A) 1930 (B) 1976

M 1975 (D) 1965

uaraflQpar_reug fo as sgragelud salib Cesrelwg rafurefigider Qeaficar Hymt

erangil_gdled gy Oana D () Snlguig).
A) 1930 (B) 1976
© 1975 (D) 1965

The seedg which contain abundant glyoxysomes are
(A)  Dry seeds | (B) Wet seeds
M Germinating seeds =~ - (D) Shrunken seeds

é]emenu.rrrésq‘ﬁ]@&rrﬁna;meﬂ uilflgonas Qarem eﬂ]mg,&s‘rr

(A) o afdlmssd (B)  mreflengaar
(©)  eseb Aasadr (D) il edenssdr
An example of C; plant is
A) Maize
(¢=)) Sugarcane
(®))] Tribulus
Wheat

Cy praunms@Ess e TOS55sT 0
A) w&&TFEFTaTLD

B) sy

«©) L_flevan

[¢D)) Cargienwo
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is composed of one or more cenospecies that are not able to intercross.
(A) Family
% Comparium
(C) Herbarium
(D) Ecospecies

o Song Lo &l(é Apfamsmes Qarar., souldes swel dsiwng

HTeUIfE G(LPaUMGLD.
@) huun
B)  s0Guflwb
€) QapiCufuib
D) ewhonsdphla
Match the following :

List 1 : Last I1

(a) Equisetum 1. Water fern
(b) Marsilea 2. Horse fail
{c) Cwvathea 3. Clubmoss
() Lycopodium 4. Tree fern
(a) (b) (c) (d)
qd 2 1 4 3
(B) 4 2 1 3
(C) 3 4 1 2
(D) 4 3 1 2
Epssar_cupenD CUTHSHS |
L g uwien I g ugen IT
(a) mseflF L Lib 1. i Gluredt
(b) wrrFablwm 2! @HSleny aured
(c) emsuImdluim 3. &lera wrein
(d) enerdEGaTGU Mg WD 4. LoriEl L et

The first human heart transplant was performed by professor Christian Bernard in the year
(A) 1959 ‘ ; (B) 1969

M 1967 | D) 1957

- wallgalie e WwsTs @sw widn memeus Hflémslaar Guyr. dflevgwren Quiami@ Celg
S CH .
(A) 1959 ' (B) 1969
(C) 1967 (D) 1957
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